UGC NET 2022 PHILOSOPHY

Topic:- 3_PARTA_S2

1) According to Merleau Ponty, perception is :

1. A science of the world
2, A conscious act

3, Not embodied

4, Not perspectival
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[Question ID = 501][Question Description = 101_3_PHL_OCT22_S2_QO01]
1. 1 [Option ID = 2001]
2. 2 [Option ID = 2002]
3. 3 [Option ID = 2003]
4. 4 [Option ID = 2004]

2) Which one of the following presents Kierkegaard's philosophy apprepriately 7

1. Subjectivity is truth

2, Hegelianisny and Rationalism
3. Being of the human being

4, Reality of the Universal
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[Question ID = 502][Question Description = 102_3_PHL_0CT22_S2_Q02]
1. 1 [Option ID = 2005]
2. 2 [Option ID = 2006]
3. 3 [Option ID = 2007]
4. 4 [Option ID = 2008]

3) Wittgenstein is convinced that the particular employment of words are deemed to
be one of the following ;

1. An ontological use of language
2. Metaphysical use of language
3. Axiological use of language

4, An ethical use of language
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[Question ID = 503][Question Description = 103_3_PHL_0OCT22_S2_Q03]
1. 1 [Option ID = 2009]
2. 2 [Option ID = 2010]
3. 3 [Option ID = 2011]
4. 4 [Option ID = 2012]

4) According to P. F. Strawson, the concept of a persen that is-embodied mind is a
primitive concept and through this argument, Strawson rejected ane of the following

1. Psychological behaviourism and Cartesian dualism
2, Empiricism and Rationalism

3. Transendental Idealism

4, ldealism
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[Question ID = 504][Question Description = 104_3_PHL_OCT22_S2_Q04]
1. 1 [Option ID = 2013]
2. 2 [Option ID = 2014]
3. 3 [Option ID = 2015]
4. 4 [Option ID = 2016]

5)  What is multiculturalism 7
1. 1t is the existence of cultural diversity within a given society,
2,1t is the existence of minority groups in a society.
3, It is the existence of political diversity in a society.
4 1t is the existence of ethnic minority groups in a society.

SgEplang d g ?
1. 750 T & oo O hae Sgoa @ Suiidl
2. fordt e F sreadeis oHaEl &1 Uiy
3. fod oo A voita® sgoar of Ui
4 T gor= J Areedl e UEl &1 Surid|

[Question ID = 505][Question Description = 105_3_PHL_0OCT22_S2_QO05]
1. 1 [Option ID = 2017]
2. 2 [Option ID = 2018]
3. 3 [Option ID = 2019]
4. 4 [Option ID = 2020]



6) Who propounded the ethics of ambiguity 7

1. Martin Heidegger
2. Karl Jaspers

3. Simion De Beauvoir
4, lean Paul Sartre
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[Question ID = 506][Question Description = 106_3_PHL_OCT22_S2_QO06]
1. 1 [Option ID = 2021]
2. 2 [Option ID = 2022]
3. 3 [Option ID = 2023]
4. 4 [Option ID = 2024]

7)  What is the concarn of the ethics of Levinas 7

1. Responsibility towards other

2, Regulation with oneself

3. Charity to the other

4, Unconditional faith to the other
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[Question ID = 507][Question Description = 107_3_PHL_OCT22_S2_Q07]
1. 1 [Option ID = 2025]
2. 2 [Option ID = 2026]
3. 3 [Option ID = 2027]
4. 4 [Option ID = 2028]

8) Dworkin proposed that rights should be thought of as;
1. "Triumphs” which reveal their distinctive power
2, "Privileges” which reveal their unique power
3. "Opportunities” which reveal their capacities
4, "Wealth" which discloses the inner power
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[Question ID = 508][Question Description = 108_3_PHL_0CT22_S2_Q08]
1. 1 [Option ID = 2029]
2. 2 [Option ID = 2030]
3. 3 [Option ID = 2031]
4. 4 [Option ID = 2032]
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9) Which one of the following is consistent with Spinoza ?

1. Mind and Matter are the parallel attributes of substance
2. Mind and Matter are two distinct substances

3. Mind is derived from Matter

4, Matter is derived from Mind
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[Question ID = 509][Question Description = 109_3_PHL_OCT22_S2_Q09]
1. 1 [Option ID = 2033]
2. 2 [Option ID = 2034]
3. 3 [Option ID = 2035]
4. 4 [Option ID = 2036]

10) The division of gualities into primary and secondary is unphilosophical. Who held

this view?

1. Locke

2. Berkeley

3. Locke and Berkeley
4, Lotke and Descartes
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[Question ID = 510][Question Description = 110_3_PHL_OCT22_S2_Q10]
1. 1 [Option ID = 2037]
2. 2 [Option ID = 2038]
3. 3 [Option ID = 2039]
4. 4 [Option ID = 2040]

11)  Which of the following is not acceptable to Kant 7

1. Knowledge consists of synthetic a priori judgements

2, Analytic judgements are always'a priori

3. Analytic judgements do not add to our knowledge

4, Synthetic jJudgements give cent percent sure knowledge
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[Question ID = 511][Question Description = 111_3_PHL_OCT22_S2_Q11]
1. 1 [Option ID = 2041]
2. 2 [Option ID = 2042]
3. 3 [Option ID = 2043]



4. 4 [Option ID = 2044]

12) According to whom ~'One idea cannot perceive another idea. Therefore there should

exist a soul which perceives ideas’,

1. Locke
2. Hume
3, Berkeley
4 lLeibniz
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[Question ID = 512][Question Description = 112_3_PHL_0CT22_S2_Q12]
1. 1 [Option ID = 2045]
2. 2 [Option ID = 2046]
3. 3 [Option ID = 2047]
4. 4 [Option ID = 2048]

13)  Which of the following statement is incompatible with Hegel's view 7

1. Contradiction is the rootof all life and movement

2. Everything tends to change into its opposite

3. The seed for example contradicts itseff and transcends itself
4, The Absolute is a myth
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[Question ID = 513][Question Description = 113_3_PHL_OCT22_S2_Q13]
1. 1 [Option ID = 2049]
2. 2 [Option ID = 2050]
3. 3 [Option ID = 2051]
4. 4 [Option ID = 2052]

14)  In Vaisesika metaphysics, which drovyas can be both niravayaia and savayava?

1. Ksiti ap, teja, and marut only

2, Ap, tefg, marut and vyoma only

3. Ksiti ap, tejg, marut and vyorma only

4 Ksitl, manas, marut, ap and vyoma only
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[Question ID = 514][Question Description = 114_3_PHL_OCT22_S2_Q14]



1 [Option ID = 2053]
2 [Option ID = 2054]
3 [Option ID = 2055]
4 [Option ID = 2056]
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15)  Which one among the following is NOT a means of Saktigraha 7

1. Aptavidkya

2. Samanyalaksana pratyaksa
3. Vyakarana

4, Vrddhavyavahara
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[Question ID = 515][Question Description = 115_3_PHL_0OCT22_S2_Q15]
1. 1 [Option ID = 2057]
2. 2 [Option ID = 2058]
3. 3 [Option ID = 2059]
4. 4 [Option ID = 2060]

16) Which system of Vedants, postulates the conception of three grades of Sana
{(Sattatrayal?

1. Visistadvaita Vedanta
2. Dvaita Vedgnta

3, Advaita Vedanta

4, Dvaitadvaita Vedanta
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[Question ID = 516][Question Description = 116_3_PHL_OCT22_S2_Q16]
1. 1 [Option ID = 2061]
2. 2 [Option ID = 2062]
3. 3 [Option ID = 2063]
4. 4 [Option ID = 2064]

17) By which relation, the relation between a pot and its colour is related with the pot

according to the Vaisesikas!

1. Semavaya
2, Samyoga
3, Tadatmya
4, Svardpa
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[Question ID = 517][Question Description = 117_3_PHL_OCT22_S2_Q17]
1. 1 [Option ID = 2065]
2. 2 [Option ID = 2066]
3. 3 [Option ID = 2067]
4. 4 [Option ID = 2068]

18) Which one amiong the following is the direct knowledge of the thoughts of others in

Jaina epistemology 7

1. Pratyaksd

2, Avadhi

3. Manahparyaya
4, Kevala
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[Question ID = 518][Question Description = 118_3_PHL_OCT22_S2_Q18]
1. 1 [Option ID = 2069]
2. 2 [Option ID = 2070]
3. 3 [Option ID = 2071]
4. 4 [Option ID = 2072]

19) In Vedic literature Ria is equated with :

1. Satya only

2. Dharma only

3. Bath Satyg and Dharma
4, Neither Satya nor Dharma
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[Question ID = 519][Question Description = 119_3_PHL_OCT22_S2_Q19]
1. 1 [Option ID = 2073]
2. 2 [Option ID = 2074]
3. 3 [Option ID = 2075]
4. 4 [Option ID = 2076]



20) By begetting off-spring one can repay

1. Pitrrna anly

2, Pitrrna ard rsirpa
3. Rsirnra only

4, Devarna only
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[Question ID = 520][Question Description = 120_3_PHL_OCT22_S2_Q20]
1. 1 [Option ID = 2077]
2. 2 [Option ID = 2078]
3. 3 [Option ID = 2079]
4. 4 [Option ID = 2080]

21) According to the Carvakas fire burns because :

1. 1t is divine will

2,1t is a cosmic order

3. 1t is the nature of fire

4, The burning power is the essence of fire
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[Question ID = 521][Question Description = 121_3_PHL_OCT22_S2_Q21]
1. 1 [Option ID = 2081]
2. 2 [Option ID = 2082]
3. 3 [Option ID = 2083]
4. 4 [Option ID = 2084]

22) which school is of the epinion that there is no tontradiction in holding the
judgement that a ghotah is and is not at the same time 7

1. Nyaya

2, Bauddha

3, Jaina

4, Advaita Vedanta
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[Question ID = 522][Question Description = 122_3_PHL_0CT22_S2_Q22]
1. 1 [Option ID = 2085]
2. 2 [Option ID = 2086]



3. 3 [Option ID = 2087]
4. 4 [Option ID = 2088]

23) In Nyaya epistemolagy, by which sarinikarsa do we perceive the relation between my
hand and the pen [ .am writing with 7

1. Sarfiyoga

2. Samyukta samavaya
3. Samavaya
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[Question ID = 523][Question Description = 123_3_PHL_OCT22_S2_Q23]
1. 1 [Option ID = 2089]
2. 2 [Option ID = 2090]
3. 3 [Option ID = 2091]
4. 4 [Option ID = 2092]

24) which of the following philosophers advocate a distinction between Anumana and
Arthdpatti pramana?

1. Ramanuja and Madhva
2, Sarmkara and Kumarila

3, Madhva and Nimbarka
4, Kumarila and Ramanuja
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[Question ID = 524][Question Description = 124_3_PHL_OCT22_S2_Q24]
1. 1 [Option ID = 2093]
2. 2 [Option ID = 2094]
3. 3 [Option ID = 2095]
4. 4 [Option ID = 2096]

25) In Nyaya philosophy of language KSvareccha is

1, The cause of sabda
2, The cause of sakti
3. Sabda itself

4, Sakti itself
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[Question ID = 525][Question Description = 125_3_PHL_OCT22_S2_Q25]
1. 1 [Option ID = 2097]
2. 2 [Option ID = 2098]
3. 3 [Option ID = 2099]
4. 4 [Option ID = 2100]

26) Which type of hetvabhasa is committed by the anumana: Sabdah nityah sabdatvat 1

1. Sadharana savyabhicGra
2, Asadharana savyabhicaro
3, Svaropasiddha

4. Viruddha
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[Question ID = 526][Question Description = 126_3_PHL_OCT22_S2_Q26]
1. 1 [Option ID = 2101]
2. 2 [Option ID = 2102]
3. 3 [Option ID = 2103]
4. 4 [Option ID = 2104]

27) Which one among the following is NMOT a characteristic of sat hetu?

1. Paksasativa

2, Vipaksasattva

3. Sapaksasattva

4, Abadhita visvatva
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[Question ID = 527][Question Description = 127_3_PHL_OCT22_S2_Q27]
1. 1 [Option ID = 2105]
2. 2 [Option ID = 2106]
3. 3 [Option ID = 2107]
4. 4 [Option ID = 2108]

28) Which type of cause is Kapalasariyoga in the production of ghatah?

1. Samavayi

2, Asamavayi

3. Nimitia

4, Nimitta - Upddana
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[Question ID = 528][Question Description = 128_3_PHL_OCT22_S2_Q28]
1. 1 [Option ID = 2109]
2. 2 [Option ID = 2110]
3. 3 [Option ID = 2111]
4. 4 [Option ID = 2112]

29) What is the nature of jivg (individual self} according te Ramanuja?

1, Jiva is fundamentally non dual with Brahman.

2, Jiva is absolutely different from Brahman,

3, Jiva is both fundamentally nen dual and absclutely different from Brahman,
4 Jiva is existentially different but inseparably connected with Brahman.
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[Question ID = 529][Question Description = 129_3_PHL_0CT22_S2_Q29]
1. 1 [Option ID = 2113]
2. 2 [Option ID = 2114]
3. 3 [Option ID = 2115]
4. 4 [Option ID = 2116]

30) Kumarila's advocacy of pramdnas was endorsed by which of the following systems?

1. Nyaya

2, Samkhya

3, Advaita

4, Suddha Advaita
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[Question ID = 530][Question Description = 130_3_PHL_0OCT22_S2_Q30]
1. 1 [Option ID = 2117]
2. 2 [Option ID = 2118]

3. 3 [Option ID = 2119]
4. 4 [Option ID = 2120]

31)  Figures of categorical syliogism are determined on the basis of :
1. Position of the major term in the premises.
2. Position of the miner term in the premises.
3. Position of the middle term in the premises,
4, Position of the major term in the conclusion.
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[Question ID = 531][Question Description = 131_3_PHL_OCT22_S2_Q31]
1. 1 [Option ID = 2121]
2. 2 [Option ID = 2122]
3. 3 [Option ID = 2123]
4. 4 [Option ID = 2124]

32) which ene of the following is the obversion of the proposition "All residents are

voters” 7

1. All voters are residents
2, Novotersare residents
3. No residents are voters
4 No residents are non-voters
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[Question ID = 532][Question Description = 132_3_PHL_0OCT22_S2_Q32]
1. 1 [Option ID = 2125]
2. 2 [Option ID = 2126]
3. 3 [Option ID = 2127]
4. 4 [Option ID = 2128]

33) Which one of the following does not fall under the category of Fallacies of Relevance

7

1. The Red Herrmig

2, The Straw Man

3. The appeal to emetion
4, Begging the guestion
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[Question ID = 533][Question Description = 133_3_PHL_0OCT22_S2_Q33]
1. 1 [Option ID = 2129]
2. 2 [Option ID = 2130]
3. 3 [Option ID = 2131]
4. 4 [Option ID = 2132]



34) f A and B are true statements and XY and Z are false statemernits, determine which
one of the following is true.
LA (XY S [A3 X VA
2 [[AX) 2Bl oADK
3.[(X>Z)3B]3Y
4 [[AX) Y] 5 (AsX)
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[Question ID = 534][Question Description = 134_3_PHL_OCT22_S2_Q34]
1. 1 [Option ID = 2133]
2. 2 [Option ID = 2134]
3. 3 [Option ID = 2135]
4. 4 [Option ID = 2136]

35) Which one of the following is the correct combination ef moods in the fourth figure
1. Datisi, Disamis and Ferison
2. Camenes, Dimaris and Festino
3. Datisi, Disamis and Ferio
4, Camenes, Dimaris and Fresison

ol & 9 oF -9 te 9qy oeR J 08 &1 98 99T 8 2
1. Datisi, Disamis and Ferison
2, Camenes, Dimvaris and Festino
3. Datisi, Disamis and Ferio
4, Camenes, Dimaris and Fresisen

[Question ID = 535][Question Description = 135_3_PHL_OCT22_S2_Q35]
1. 1 [Option ID = 2137]
2. 2 [Option ID = 2138]
3. 3 [Option ID = 2139]
4. 4 [Option ID = 2140]

36) Which one of the following reprezents the relation between propositions provided
below?

Some pens are red.
Some pens are not red.
. Contrary

. Contradictory

. Sub-Altern
.Sub-Contrary
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[Question ID = 536][Question Description = 136_3_PHL_OCT22_S2_Q36]
1. 1 [Option ID = 2141]
2. 2 [Option ID = 2142]
3. 3 [Option ID = 2143]
4. 4 [Option ID = 2144]

37) Consider the following syllogism and identify the fallacy involved in it:
. Some friends are rich.
. Norrich persons are helpful.
& No helpful persons are friends.

1. icit major
2. llligit minor
3. Undistributed middle
4, Fallacy of four terms
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[Question ID = 537][Question Description = 137_3_PHL_OCT22_S2_Q37]
1. 1 [Option ID = 2145]
2. 2 [Option ID = 2146]
3. 3 [Option ID = 2147]
4. 4 [Option ID = 2148]

38) Consider the following syllogism and identify the fallacy in it.
. No dogs are bipeds.
. Na cats are bipeds.
& Mo cats are dogs.

.Migit minor

. Fallacy of ambiguity

. Fallacy of two negative premises
JUndistributed middle
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[Question ID = 538][Question Description = 138_3_PHL_0OCT22_S2_Q38]
1. 1 [Option ID = 2149]
2. 2 [Option ID = 2150]
3. 3 [Option ID = 2151]
4. 4 [Option ID = 2152]

39) Identify the contraposition of the propesition

"Some philosophers are not-scientists”

1. Some non-scientists are not non-philosophers
2. Some non-philosophers are non-scientists

3, No non-scientists are nen-philossphers

4, All scientists are non-philosephers
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[Question ID = 539][Question Description = 139_3_PHL_OCT22_S2_Q39]
1. 1 [Option ID = 2153]
2. 2 [Option ID = 2154]
3. 3 [Option ID = 2155]
4. 4 [Option ID = 2156]

40) Who said that " | den't care of God, if he is anything but truth "7

1. K. C. Bhattacharya
2, lghal

3, Vivekananda

4 M. K, Gandhi
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[Question ID = 540][Question Description = 140_3_PHL_OCT22_S2_Q40]

1. 1 [Option ID = 2157]
2. 2 [Option ID = 2158]



3. 3 [Option ID = 2159]
4. 4 [Option ID = 2160]

41) Which of the following philosophers conceptualized God as' "persenal being” or

"supreme person’,

1. lgbal

2. Radhakrishrian
3. Ambedkar

4, Tagore
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3, EEET
4, 37R

[Question ID = 541][Question Description = 141_3_PHL_OCT22_S2_Q41]
1. 1 [Option ID = 2161]
2. 2 [Option ID = 2162]
3. 3 [Option ID = 2163]
4. 4 [Option ID = 2164]

42) Who among the follewing Coritemporary Indian Thinkers expresses the view that
self knowledge is equivalent to knewing oneself in relation?
1. M. N. Roy
2, K. C. Bhattacharya
3, Jiddu Krishnamurthy
4, Jyotiba Phule

Fefafad & v ga@q YR SaR® - T9R 381 F oresH @ & an | 9
BETHRE?

1.00. .3

2, &4 yEEd

3, foreg PO

il

[Question ID = 542][Question Description = 142_3_PHL_OCT22_S2_Q42]
1. 1 [Option ID = 2165]
2. 2 [Option ID = 2166]
3. 3 [Option ID = 2167]
4. 4 [Option ID = 2168]

43) Who among the following is the ancient Greek pluralist?

1. Permenides
2. Zeno

3. Empedocles:
4, Anaximander



Fafeiad # 9 oF uri- Uie agadie) [998® § 7
1. REEed
2,540
4, ST ST

[Question ID = 543][Question Description = 143_3_PHL_OCT22_S2_Q43]
1. 1 [Option ID = 2169]
2. 2 [Option ID = 2170]
3. 3 [Option ID = 2171]
4. 4 [Option ID = 2172]

44) Which of the following is philosophically unacceptable to St Anselm 7

1. Faith

2, Understanding faith

3. Understanding why revelation is true
4, Giving up reason

i @i 2P O e Ugod ®] 71 WIidd el o7
1, ST
2, AT @ FHFAT
3. el 91 o9 &, @ oaa
4, T & TN T

[Question ID = 544][Question Description = 144_3_PHL_OCT22_S2_Q44]
1. 1 [Option ID = 2173]
2. 2 [Option ID = 2174]
3. 3 [Option ID = 2175]
4. 4 [Option ID = 2176]

45) "The so called cause is nething but one event immediately succeeded by another
event, the succeeded event may be called effect. That is all”. Who among the

following holds this view?

1. Locke

2. Kant

3. Hume

4, Descartes

FUIHINT SR TS ol ¢ Sied TP el qid Ygad) geql @ & o oal 8, TRadl
A1 @] YHIE ©el W Yodl 5, WH Bl o | FEGEa H ¥ U faaR fpus 6 2

1. 9@

2. @i

3, EQH

4, 5@

[Question ID = 545][Question Description = 145_3_PHL_0OCT22_S2_Q45]
1. 1 [Option ID = 2177]
2. 2 [Option ID = 2178]
3. 3 [Option ID = 2179]
4. 4 [Option ID = 2180]



46) Which of the following statement is incompatible with Descartes?

1. Taking mathematics as the model of philosophical method

2, Setting the face against old authorities

3. Viewing sense-experience as a gateway to all knowledge

4, Reconciliation of mechanism and the netions-ef Ged, Soul and Freedom

3P $ SIAR ST E 8 7
1. 70T &1 BT ® fafy & Alsa & &9 8 oAl
2. U fagrl & fagdig e gs o

3. 3154 4T | GH% 1F & HAER & ¥4 H o@Hl
4, FiFwd @ A4 3R 35 A& R W= U@ HHuy

[Question ID = 546][Question Description = 146_3_PHL_OCT22_S2_Q46]
1. 1 [Option ID = 2181]
2. 2 [Option ID = 2182]
3. 3 [Option ID = 2183]
4. 4 [Option ID = 2184]

47) What of the following is incorrect as' far as Rationalism is concerned (as a
Philosophical theory)?

1. Reason and Reason alone is the source of all philosephical knowledge

2. Reason is permanent and unchanged

3.Sense experience is deceptive and therefore cannot act as a source of
philcsophical knewledge

4, Reason limits-itself and is defective

@ dlgdc @ 999 4 GRIF® [bEid @ ©y H) Hafaied 4 4 oHa gd g 7
1. BRUN 3R Ba BRI G4 TR ® aRHe 31 31 49id 8
2. ®RY W § 3R uRkadag e
3. 5810 39 UD ool & SHie 95 giRiH® 31 ® Hid & $4 § O/ d6l 51
Tl
4. FRO T &1 T Heal & AR oy g

[Question ID = 547][Question Description = 147_3_PHL_0OCT22_S2_Q47]
1. 1 [Option ID = 2185]
2. 2 [Option ID = 2186]
3. 3 [Option ID = 2187]
4. 4 [Option ID = 2188]

48) Berkeley is called as Idealist because

1. He was a bishop.

2. There is'nc knowledge which is not in the form of ideas.

3. Matter matters least toe him,

4, He postulated the principle : Think with the learned and speak with the vulgar,

qTdel I HGRIdIG] el ol Gl & T -
1.98 Ud [aug o1
2, BT @I 9 ol & Wl HIG8 9 H ATl
3. faug 39 o Hgeayy favg 981 ©
4, 35 "TUIPG] & G WiFAT qU1 AP Sia fHsid ol siHied fegn

[Question ID = 548][Question Description = 148_3_PHL_OCT22_S2_Q48]
1. 1 [Option ID = 2189]
2. 2 [Option ID = 2190]



3. 3 [Option ID = 2191]
4. 4 [Option ID = 2192]

49) “Men may come and men may go, but the man-type, the human race goes on
forever”, Whose view is this?

1. Aristotle

2. Plato

3. Protogoras
4, Gorgias

2O AT & AR A1 5, foed 9Md STfa, A Weld 9od 9009 eid o7 4 [odd
fFar e

1.9
2. el
3, JleriRg
4, ST

[Question ID = 549][Question Description = 149_3_PHL_OCT22_S2_Q49]
1. 1 [Option ID = 2193]
2. 2 [Option ID = 2194]
3. 3 [Option ID = 2195]
4. 4 [Option ID = 2196]

50) Who held the view that 'Ged is the Unmoved Maver'.

1. Socrates
2. Plato

3. Thales
4, Aristotle

2y ftga aedi o FEH 4 o BE@ie 7
1. G@T
2. @@
3. 47
4, 9]

[Question ID = 550][Question Description = 150_3_PHL_OCT22_S2_Q50]
1. 1 [Option ID = 2197]
2. 2 [Option ID = 2198]
3. 3 [Option ID = 2199]
4. 4 [Option ID = 2200]

51)  Which of the following is the correct view of Anaxagoras 7

. Elements are without qualities.
. Elements are only four in number,
. Change is:impossible.

J5 WM —-

.Mind initiates motion in the elements.
FFNE & AR d -G SUT 981 8 7

1.aE AT B Ed &
2. 0@ HaT IR NBR DB &
4, ATGI=H deal @l Tfagha sl 8



[Question ID = 551][Question Description = 151_3_PHL_OCT22_S2_Q51]
1. 1 [Option ID = 2201]
2. 2 [Option ID = 2202]
3. 3 [Option ID = 2203]
4. 4 [Option ID = 2204]

52) ‘“Knowledge is possible : I is concerned with the general and typical, not the
particular and accidental”. Who among the following holds this view ?

1. Sophists
2, Atomists
3. Socrates
4, Empedocles:

"F GYE &, 390 S8y O AN UG e Ao AR R e g g 4
Fosfgare

1. Gifte =

2, JUErg!
3. G
=

[Question ID = 552][Question Description = 152_3_PHL_OCT22_S2_Q52]
1. 1 [Option ID = 2205]
2. 2 [Option ID = 2206]
3. 3 [Option ID = 2207]
4. 4 [Option ID = 2208]

53) "The impulse towards pleasure, if too predominant, defeats its own aim ", Who

among the fellowing holds this view 7

1. Bentham
2,15, Mill
3, Sidgwick
4, Kant

"3IE B 31 7 A Safi® ved 8 91 98 90 3590 § yed w81 Fefafea 9
Yo fbopigas?

1. 8UH

2, SLEg

3, iica®

4 @ie

[Question ID = 553][Question Description = 153_3_PHL_OCT22_S2_Q53]
1. 1 [Option ID = 2209]
2. 2 [Option ID = 2210]
3. 3 [Option ID = 2211]
4. 4 [Option ID = 2212]

54) Who amongst the following criticized Cartesian Raticnalism 7

. St. Augustine
.Spinoza

. Leibnitz

. Hume

S M W I



Fafeiad # o g sorcad] dfaare & sidad o 4 7
1. 82 TR
2. FEEE
3. TEE
4,590

[Question ID = 554][Question Description = 154_3_PHL_OCT22_S2_Q54]
1. 1 [Option ID = 2213]
2. 2 [Option ID = 2214]
3. 3 [Option ID = 2215]
4. 4 [Option ID = 2216]

55) Which of the following aim is NOT conducive to Immanuel Kant 7

1. To limit Hume's=skepticism

2, To limit dogmatism

3. Ta prove that reason was all in all

4, To show the possibility of synthetic apriosi propositions

AT Pic & 10T DI T Ged T8l & 7
1. 54H & UaTG ®I i S
2. SoYHar @i Hifaa &
ER AR R G n e
4, HIftT AT FRUS ah il @ ST Ualkid o

[Question ID = 555][Question Description = 155_3_PHL_OCT22_S2_Q55]
1. 1 [Option ID = 2217]
2. 2 [Option ID = 2218]
3. 3 [Option ID = 2219]
4. 4[Option ID = 2220]

56) Who among the follewing is inclined to accept Transcendental Idealism?

1. Hegel

2. Kant

3, Descartes
4, Hume

fFrafofad # | feusr go sfifd daade of WioR- of SR § 7
1,87
2. @i
3,391
4.5

[Question ID = 556][Question Description = 156_3_PHL_OCT22_S2_Q56]
1. 1 [Option ID = 2221]
2. 2 [Option ID = 2222]
3. 3 [Option ID = 2223]
4. 4 [Option ID = 2224]

57) Who is the chief architect for the reconcilistion between Rationalism

Empiricism?

. Locke
.Spinoza
.Hume
Kant

eSS T

and



glGae 3R HFHTTIE Gl & GH-9d B §HE aRGOR B 8 7
1.7lE
2, R
3. 890
4, @I

[Question ID = 557][Question Description = 157_3_PHL_0OCT22_S2_Q57]
1. 1 [Option ID = 2225]
2. 2 [Option ID = 2226]
3. 3 [Option ID = 2227]
4. 4 [Option ID = 2228]

58) For Kant, What is the faculty that coordinates sensations and perception?

1. Time

2, Transcendental unity of apperception
3. Space

4, Category

®ic o Hagl 3R 40T &1 o 9iHwd HRal &, 98 5 Jfad 7 & 7
1. 999
2, AFEY B A= T@al
3, B
4, Bife

[Question ID = 558][Question Description = 158_3_PHL_OCT22_S2_Q58]
1. 1 [Option ID = 2229]
2. 2 [Option ID = 2230]
3. 3 [Option ID = 2231]
4. 4[Option ID = 2232]

59) Which of the following position isiincompatible with the view of Berkeley?

1. Acceptance of ideas

2. Accepiance of the existence of soul
3. Acceptance of abstract ideas

4, Acceptance of nominalism

Fehol & 1Y T & 2
1, UET @i Wil
2, A & i & W@l
3, S7Hd Wedl @ widerdar
4, THEYAIG o] Widrdl

[Question ID = 559][Question Description = 159_3_PHL_OCT22_S2_Q59]
1. 1 [Option ID = 2233]
2. 2 [Option ID = 2234]
3. 3 [Option ID = 2235]
4. 4 [Option ID = 2236]

60) What is the place of Ged in Plato's philosophy?
1. God is'the cause of ldea

. God isdifferent from Idea

. God is'the same as’[dea

- T

ldea is the cause of God



el B e g s Bl T e e
1. 39 U9 BT BNV &
2.5y g fime
3R TII P SH B
4 TG SR P BRI B

[Question ID = 560][Question Description = 160_3_PHL_OCT22_S2_Q60]
1. 1 [Option ID = 2237]
2. 2 [Option ID = 2238]
3. 3 [Option ID = 2239]
4. 4 [Option ID = 2240]

61) Which one of the following is unacceptable to David Hume?
1. Knowledge as relation of ideas

. Knowledge as matters of fact

. Refutation of the causal relation

gm0 g

. Knowledge of Soul, Werld and God is possible
Fofafad # 9 &F o Sfds 500 @) SRdierRag § 2
1. UeEl o Heyl & $9 H 99
2.7 & (a9 & ¥4 A 39
3. 5d® Hat @ WsA
4,31, Ay IR PR P G &
[Question ID = 561][Question Description = 161_3_PHL_OCT22_S2_Q61]
1. 1 [Option ID = 2241]
2. 2 [Option ID = 2242]

3. 3 [Option ID = 2243]
4. 4 [Option ID = 2244]

62) Who holds the following view about emotive theory?

"Only the propositions of the mathematics and empirical sciences have sense, and all
other propositions are without senses”,

ACA L Aver

B.R. Carnap

C. G. E. Moore

D. B. Russell

Choose the correct answer from the options given below;

1.A anly
2.A and B only
3.B anly
4, Cand Donly



TEATTED [GSid & G | Haidiad Ad bYal & ;

"Ga MU T4 SHEIEd Gl & Jeaeg § Yda B &, 3R 3 3 §% 9
f&1 HagT @ el g 1°

AT S, HER/ U

B. 3R, BT

(o= =2

D. & Wd

14 fau U faeedl 5 4 W5l S 94
1.ad A
2, HaT A dR B

3, Ba0 B
4, HFAC HRD

[Question ID = 562][Question Description = 162_3_PHL_OCT22_S2_Q62]
1. 1 [Option ID = 2245]
2. 2 [Option ID = 2246]
3. 3 [Option ID = 2247]
4. 4 [Option ID = 2248]

63) "Self-realization is the highest good”. This view is maintained by:
A, Rigorism
B, Eudaemonism
C. Emotivism
D. Egoisnt
Choose the correct answer from the options given below;

1..B anly

2.A and B only
3.B and D only
4, Cand D only



Tg 5 [ Hd g Huita & -

A, HaiuEg

B, SEUHTGdG

C. 9T

D. Hgarg

974 fau U faeed| 5 9 951 SR 94
1. At B
2, Ba A SR B

3, BB AN D
4, B C HRD

[Question ID = 563][Question Description = 163_3_PHL_OCT22_S2_Q63]
1. 1 [Option ID = 2249]
2. 2 [Option ID = 2250]
3. 3 [Option ID = 2251]
4. 4 [Option ID = 2252]

64) Consider the following and select the code stating Bahiranga Limbs of Astanga voga:
A, Yama, Niyama, Asona
B. Dhvana , Dharana
C. Pranayama, Pratyahara
D. Dhérand, Dhydara, Somadhi
Choose the correct answer from the options given below;

1.A and B enly
2. Aand Conly
3. A and D anly
4 Cand Donly

Fafoiad W AR Sifv ok SEi O % §fed o9ud @ aftid ded ad $e &
GEup

A gH, g, e

B. S, YU

C. HTIIGTH, Udlei

D. YRT, &, F9119

S fqu e fased| § § 4l g g

1. a0 A AR B
2. FAAAARC
3, Tad A 3R D
4, FEECARD

[Question ID = 564][Question Description = 164_3_PHL_OCT22_S2_Q64]



1 [Option ID = 2253]
2 [Option ID = 2254]
3 [Option ID = 2255]
4 [Option ID = 2256]

A wnN =

65) Lokasamgraha stands for -
A, Fruitless activities:
B. Moral activities
C. Religious activities-
D. Public welfare activities
Choose the correct answer from the options given below;

1.4 anly
2. Aand Benly
3.Cand D only
4. D only

e 9 & R wge il ¢

A, BEEH Grday

B. Ao PHHY

C. Uit SHowY

D. Ti® SedlT BBy

il fgu e fawed| & € 48l g g
1. a0 A
2, BT A SR B

3. 690 C XD
4, HAAD

[Question ID = 565][Question Description = 165_3_PHL_OCT22_S2_Q65]
1. 1 [Option ID = 2257]
2. 2 [Option ID = 2258]
3. 3 [Option ID = 2259]
4. 4 [Option ID = 2260]

66) We can perceive, according to Nyaya, the external substances by:
A, Visual sense organ
B. Tactual sense organ
C, Gustatory sense argan
D. Internal sense organ
Choose the correct answer from the options given below;

1. A anly
2,Aand Benly
3.A and Conly

4 A Band Conly



T % 39N, 59 91e] UGy &1 1y fa® g o 9o & -
A. TXT Gag] T

B, ¥T| Tl 37

C. %G gl 3

D. 3fe: Hag] 3T

14 fgu U faeedl 5 4 U5l S 94 :

1. Had A

2, HaA A HRB
3, FAAAHRC
4, FAAA BARC

[Question ID = 566][Question Description = 166_3_PHL_OCT22_S2_Q66]
1. 1 [Option ID = 2261]
2. 2 [Option ID = 2262]
3. 3 [Option ID = 2263]
4. 4 [Option ID = 2264]

67) Who among the following admits both Jivanmukt and Videhamukti
A, Sankara
B. Buddha
C. Ramanuja
D. Madhva
Choose the correct answer from the options given below;

1.4 anly

2.B anly

3.A and B only

4. A Band Conly

fFrafaad # § S siigHied 3 [Aesdie ol & JHa & -
A, TP

B.ES

C. THIS

D. 94

e fau e fadedl 9 981 s g

1. HEAA

2, FaAE

3, AT A B
4 FAAA BARC

[Question ID = 567][Question Description = 167_3_PHL_OCT22_S2_Q67]
1. 1 [Option ID = 2265]
2. 2 [Option ID = 2266]
3. 3 [Option ID = 2267]
4. 4 [Option ID = 2268]



68) Which of the following text is composed by Maulana Azad 7
A, Ghubar-e-Khatir
B, Education and Religious Identity
C. India Wins Freedom
D. Tarjurnanul Quran
E, Tarjumanul Geetg
Choose the correct answer from the options given below;

1.A and D only

2.A Cand Donly
3.ABC DandE
4 A DandEonly

fFafiTad # ®H-31 OFie S HIes G ol T 8 2
A, ER-I-TIR

B. TS[h e UUg Rejifoad amgafed!

C. 3iUs fa wisH

D. AT S

E. deHe iat

Jfeu e famed § W IR -

1.FATA HRD

2. FEAA, CHR D

3,A B CDIINE

4. @90 A, D HRE
[Question ID = 568][Question Description = 168_3_PHL_O0CT22_S2_Q68]
1. 1 [Option ID = 2269]
2. 2 [Option ID = 2270]

3. 3 [Option ID = 2271]
4. 4 [Option ID = 2272]

69) Who among the follewing are vataries of caturvarnya system?
A M. K. Gandhi
B. Sarvepalli Radhakrishnan
C, Narayana Guru
D. Deendayal Upadhyaya
Choose the correct answer frem the options given below:

1.4 and B only
2.4 Band Conly
3.A Band Donly
4AB CandD



Ffeied # 9 &1 9rgavd ol & 5999 §
A THD Tl

B, Gagee AUTHEWE

C. AREI T8

D. GFIEATT guTEay

i fgu e fased| 5 4 48l Sw g

1. 6aT A SR B

2. AU A BHRC

3, FAAA B ARD

4.ABC3RD
[Question ID = 569][Question Description = 169_3_PHL_OCT22_S2_Q69]
1. 1 [Option ID = 2273]
2. 2 [Option ID = 2274]

3. 3 [Option ID = 2275]
4. 4 [Option ID = 2276]

70) Consider the following statements with reference to conjunction and choose the
correct combination :

A IF p'istrue and " g is true, then ' p-q’ istrue
B.If'p'isfalse and ' q istrue, then ' p-q ' is false
C.H'p'istrueand' g is false, then " p-g ' is true
D.If"p'is false and " g’ is false, then " p'q " is true
Choose the correct answer from the options given below;

1.4 anly
2.A and Canly
3. A and B anly
4, C only

Prafafan syAl ® ga=eys & 4oy # ffr #1f R sd ga &1 9T
AT 'p' R 8 3R ‘g el €, 79 p.q WEI B
B, 4% 'p T & 3R 'q Wel &, 09 p.g oW o
c. 9% ‘p' T8l § 3R 'q 716 8, 79 p.g Tel 8l
D. % 'p! e & ¥R ‘g’ Ted §, 79 p.q el 8
e e e fawedi § G w6 o g
1. a0 A
2,65 A SR C

3. 9ad A 3B
4, FaAC

[Question ID = 570][Question Description = 170_3_PHL_OCT22_S2_Q70]
1. 1 [Option ID = 2277]
2. 2 [Option ID = 2278]



3. 3 [Option ID = 2279]
4. 4 [Option ID = 2280]

71) Consider the following with reference to distribution of terms in categorical
propositiens ;

A, A proposition distributes only its predicate term.

B, E proposition distributes both its subject and predicate terms,
C. | propositien distributes its only subject term.

D. O propesition distributes only its predicate term.

Choose the correct answer from the options given below;

1.A and B only
2.B and Conly
3.4 and D enly
4.8 and D only

FfeREd BYAT ® qdaiad] H UG] $ oIe 5 & HeH H [aaR Sieg ;
A T ahddd ¥ $ad sud [qUg U8 A ekl &

B, $ OhaTE & SUD 9530 AR a8 9T AT Bid &

C. 3T Apagd § A e U AT gid &

D. 3t Gearey & thac fa9a U AT €1 &

e U e fawed & @ w6 W g

1. AT A IR B
2. FEABARC
3, %A A AR D
4, FHEAB AR D

[Question ID = 571][Question Description = 171_3_PHL_OCT22_S2_Q71]
1. 1 [Option ID = 2281]
2. 2 [Option ID = 2282]
3. 3 [Option ID = 2283]
4. 4 [Option ID = 2284]

72) Match List | with List Il

List | List 1l
A, Advaita Vedantall. Egoistic Hedonism

11 Performance of

B. Buddhism .

Duties
C. Gita |1l Self-realization
D. Carvaka V. Noble Truth

Choose the correct answer from the options given below:
1L.A-1,B=-0,C-1l,D-IV
2A-,B-I,C-1l,D=1
3A-IVB-II,C-1,D-1
4A-1,B-1LC-IV,D-1



! -1 I 1 -1l H A DI ;

- gl -l

A. 3igd daid I HEAE] YEaE
B W uH |1, P TG
. 7@ I11. HTEEHE
D. 9did V. R O
Jid Tgu e faspedl # 9 9pl 9ol gAe

LA-1,B-1,C-1,D-IV
2ZA-N,B-IV,C-1,D-1
JA-IVB-1I,C-1L,D-1
4A-LB-1NLC-1IV,D-1l

[Question ID = 572][Question Description = 172_3_PHL_OCT22_S2_Q72]
1. 1 [Option ID = 2285]
2. 2 [Option ID = 2286]
3. 3 [Option ID = 2287]
4. 4 [Option ID = 2288]

73) Match List | with List 11

List | List I

A Buddhism [ . B
Saghana Catustdya

B. Yoga Il. Pancha Mahavrata

C. Jainism IIl. Dwadasanidana

o Advaita

B V. Pancaklesha
Vedanta

Choose the correct answer from the options given below:
1T.A-IV,B-1I,C-1ll,D-I
2A-1,B-lILC-1,D-IV
3.A-II,B-IV,C-1l,D-]
4A-1,B-IL,C-,D-IV

T -1 I -1 Ao P ;

LERE gl -l

A dhE o I WTE-TT
B, AT 1. 42 HeTad
C.o ul i1, ElEdHar
D. 3Hgd daid v, T

Jd Tqu e fapedl B 9 ug go g

TA-IV,B-JI,C-Ill,D-]
2ZA-1,B-lILC=I,D-IV
FA-,B-IV, C-1l,D-l
4.8 -1,B-1ILC-1,D-IV

[Question ID = 573][Question Description = 173_3_PHL_OCT22_S2_Q73]
1. 1 [Option ID = 2289]
2. 2 [Option ID = 2290]
3. 3 [Option ID = 2291]



4. 4 [Option ID = 2292]

74) Match List lwith List Il

List | List Il

A. Bhasarvanja |l Tattvopaplavasingha

B, layrasibhatta |Il. Nyayasara
= Il
Hemachandra |Vijiptimatratasiddhi

D. Vasubandhu |(IV. Pramanamimarisa

Choose the comect answer from the options given below:
TLA-1,B-1,C-1l,D-IV
2A-ILB=-1,C=-IV, D=1
3A-LB-NLC-1,D-1V
4A-1,B-1,C-],D-IV

i -| Dl gl -1 H GHfAd Do -

T - T -1l

A, HTERaY |. 7™ @4 g

B, SORTRYE 11, UTGER

C eaTS (INCRIGEERIRE
D. dgdY IV, FETOTHEE

TLA-1,B-I,C-1,D-IN
2ZA-IL,B=-LC=IV, D-]l
3A-LB-ILC-1,D-IV
4A-1,B-1ILC-1,D-1IV

[Question ID = 574][Question Description = 174_3_PHL_OCT22_S2_Q74]
1. 1 [Option ID = 2293]
2. 2 [Option ID = 2294]
3. 3 [Option ID = 2295]
4. 4 [Option ID = 2296]

75) Match List | with List 11

List | List Il

A, Empedocles | Atomic Theary

B. Anaxagaras Il The doctrine of elements
C. Pythagoras Ill: The doctrine of nous
g;:sg:zﬁ:sand IV. The doctrine of numbers

Choose the correct answer from the options given below:
T.A-ILB-V,C-1,D-1
2A-1,B-1,C-V,D=1
3.A-IlLB-1I,C-1,D-IV
4A-IV,B-1,C-1,D-1N



! -1 I 1 -1l H A DI ;

- GEIRl
ATHISTHE 1. 3] i

B, THEETRE II. T @1 [zt
C. ORIy 739 @ Sl
D. TR0y SR SHikhed Iv. S &1 Righa
It fgu ¢ fadedl # 9 8l IR gL ;

TL.A-ILE-IV,C-1,D-
2ZA-MI,B-1ILC-V,D~-1
3A-NLB-II,C-1,D-INV
4A-IV,B-1,C-1,D-1N

[Question ID = 575][Question Description = 175_3_PHL_OCT22_S2_Q75]
1. 1 [Option ID = 2297]
2. 2 [Option ID = 2298]
3. 3 [Option ID = 2299]
4. 4 [Option ID = 2300]

76) Match List | with List 11

List | List Il
A Interactionism I. Hume
B, Parallelism |l. Descartes

C.Pre-established harmony|lll. Spinoza

D. Scepticism V. Leibnitz

Choose the correct answer from the options given below:
1.A-IILB-1I,C-1,D=-IV
2A-I,B=[L,C=IV,D~-]
3.A-Il,B-I,C-1,LD-IV
4A-1,B-1,C=1ILD-1IV

T -1 I -1 g Pl ;

LERE Tl -1l

A, Tongr-ufaforamarg 1. 509

8. gEoEs 1. S

C. qaeyTiue I 111, TS
D. YEdg ASIESIERE]
Jd Tqu e faped! # 9 Ug go g

TLA-I,BE-I,C-],D=-V
2ZA-ILB-lILC=IV, D=1l
FA-,B-,C=Il,D-IV
4.48-1L,B-1,C-1,D-1V

[Question ID = 576][Question Description = 176_3_PHL_OCT22_S2_Q76]
1. 1 [Option ID = 2301]
2. 2 [Option ID = 2302]
3. 3 [Option ID = 2303]
4. 4 [Option ID = 2304]



77) Match List | with List 11

List | List Il

A, Self is active and conscious ||, Advaita Vedanta

B, Selff i inactive and

? 1. Samkhya
conscious
C. Seif is the body itssif IIl. Vaisesika
D. Self is knowledge itself IV. Carvaka

Choose the correct answer from the options given below:
LA-LB-1,C-ll, D~V
2A-1,B-1,C-1V, D=1l
A=, B-ILC=1IV,D~=]
4A-ILB-1V,C-1,D-1l

i - DI e -1l | gHfad Do -

T - -1l

A, HTH WD AR §dad & I 3gd daia
B, I 319hd IR GdeH & 11, T

C S MR 8 111, 91T
D. HH DI TH & Iv. rdie
Ji<d fgu e fapedl € Uel 9w 9Ae

1LA-LB-1,C-I,D- IV
2A-1,B-1I,.C-IV, D=1l
3.A-NLB-ILC=IV, D=1
4.8 -1LB-1V,C-1,D-1l

[Question ID = 577][Question Description = 177_3_PHL_OCT22_S2_Q77]
1. 1 [Option ID = 2305]
2. 2 [Option ID = 2306]
3. 3 [Option ID = 2307]
4. 4 [Option ID = 2308]

78) Match List | with List Il

List | List 1l

A, The effect is produced in the presence of its cause |l Vaisesika

B, The effect is produced in the absence of its cause |l Advaita Vedanta
E;D;—SZEOEHEG preexists in its cause before iis i, Bauddba

D. The effect is not real but the cause is real V. Sarhkhya:

Choose the correct answer from the options given below:
1T.A-1,B=I,C-Nl,D-IV
2A-1,B-1ILC-IV,D-1
3A-ILB-ILC=-1V,D~]
4A-1,B-1LC-IV,D-1I




! -1 I 1 -1l H A DI ;

! -| -l

A TR @) JURYRT H @ @ JaRi e 5 | aSifE

B, BT & 3t 99% FRU B SR T el |\ 3fgd daid
C. @14 3UR-yd 30 @R & 1E-faagF i B 11l s

D. @1 dRIfas® el 6, Ui DR dRdfd® & V. TR
Jid Tgu e faspedl # 9§ 9pl 9ol gAe

LA-1,B-1,C-1,D-IV
2ZA-LB-1NLC-1V,D-1l
FJA-ILB-ULC-IV, D~
4 A-1,B=-IC-IV,D-]lI

[Question ID = 578][Question Description = 178_3_PHL_OCT22_S2_Q78]
1. 1 [Option ID = 2309]
2. 2 [Option ID = 2310]
3. 3 [Option ID = 2311]
4. 4 [Option ID = 2312]

79) Match List | with List 11

List | List

A.. Constructive L, S5, 5

Dilemma

B. Addition ILp2gq,p - g

C. Modus Ponens .p ~pvag

D. Disjunctive Syllogism ulq\::rs (p=q). (Fos), pvr,

Choose the correct answer from the options given below:
TA=|,B=l,E=I,D-IV
2A-ILB-,C-IV, D=1l
FA-IVB-IL,C-ILD-I
AA-HLB-IL,C-1,D=-IV

Tl -1 BT -1 | GHf S :

LER el

A, REATED IHIIR I pvg ~p. - q

EEIFT Il.p3g, p--g

C. ASE UH Iil. p, = pvg

D. g =maEg V. (p2g)(ros) pvr -~ qvs
I Tgu e fapedl # @ ug g g

1.A-I,B-II,C-NI,D-1V
2ZA-ILB=-LC=IV, D=l
3A-IVB=,C-1l, D=1
4A-NLEB-ILC=],D-1V

[Question ID = 579][Question Description = 179_3_PHL_OCT22_S2_Q79]
1. 1 [Option ID = 2313]
2. 2 [Option ID = 2314]
3. 3 [Option ID = 2315]
4. 4 [Option ID = 2316]



80) Match List | with List 1l

List 1 List Il

A, Hobbes 1. Absolute Idealism
B, Amartya Sen I, The Second Sex

C. Hegel IIl. Social Contract

D. Simone BilV. The Idea of
Beauvoir Justice

Choose the correct answer from the options given below:
1T.A-IW,B-1I,C-1ll,D-|
2A-ILB-W,C-Il,D=1
SA-BE-IV,C-1, D=1l
4A-1,B-IV,C-ILD-1

T - B -1 AT P

LEE T -1l

A, Bisg . TsH[ e Hsisafaet
B, 3 T I, & Gars Gad

C. B |11, TR Wiede

D. g T V. § el i Jfeg
-t fou e fadedl # 9 el I gL :

T.A-IW,B-ILC-1l, D~
2ZA-0,B-W,C-1Il,D~=]
FJA-MBE-IV,C-1,D-1l
4A-1,B-W,C-1ILD-1N

[Question ID = 580][Question Description = 180_3_PHL_OCT22_S2_Q80]
1. 1 [Option ID = 2317]
2. 2 [Option ID = 2318]
3. 3 [Option ID = 2319]
4. 4 [Option ID = 2320]

81) Consider the following and select the code consistent with Kant's Categorical
Imperative:

A, Internal law of conscience

B. Apriori

C. Moral law

D. Natural law

Choose the correct answer froam the options given below;

1.A anly

2, Aand Benly
3.4 Band Conly
4. B, Cand D only



FafoiEd i far Sifan SR @i & FIug Aoy 9§ S8ied $e o 9H3
A, JTa @) Hiale Ay
8. 34d FRUE
c. Afcs faf
D. i faf
i e 71e fawed & & gl S g4
1, a0 A
2, HaT AR B

3, HITABHARC
4, HIT B, C HR D

[Question ID = 581][Question Description = 181_3_PHL_OCT22_S2_Q81]
1. 1 [Option ID = 2321]
2. 2 [Option ID = 2322]
3. 3 [Option ID = 2323]
4. 4 [Option ID = 2324]

82) Consider the following and select the correct sequence from the codes given below :
A Artha
B. Dharma
C. Moksa
D. Kama
Choose the correct answer from the options given below

A B CandD
B, A DandC
B A CandD
D, & Band C

FraferEd W GRSty SR 4 G2 T o § 9 9 s gy ;
A 3

B, o

C. Higf

D.®H

i fqu ¢ fased| | § Hel ST g

ABCD
B.ADC
BACD
O,A B C

W -

B S 6 T L

[Question ID = 582][Question Description = 182_3_PHL_OCT22_S2_Q82]
1. 1 [Option ID = 2325]
2. 2 [Option ID = 2326]
3. 3 [Option ID = 2327]



4. 4 [Option ID = 2328]

83) Select the correct sequence :

A. Avagraha

B. Dharandg

C. tha

D. Avdya

Chouose the correct answer from the options given below

1.A, C, Dand B
2A B CandD
3.A D, CandB
4C A BandD

ol ©F @1 99 & ;

A,

B.

c.

D.

Halg

CIELI

el
Ham

Jid fou e fadedl 5 O U6l 9w 9 ;

1.ACDE
2ABCD
3.ADCE
4 C A BD

[Question ID = 583][Question Description = 183_3_PHL_OCT22_S2_Q83]

1
2
3
4

AN wnN -

84)

[Option ID = 2329]
[Option ID = 2330]
[Option ID = 2331]
[Option ID = 2332]

Consider the following explanation of the fallacies :

Statement I: The deliberate misrepresentation ef oppenent’s position is the fallacy
of straw man

Statement II: An attack upon the character or special circumstances of the
opponent invalves fallacy of Ad hiominem

In light ef the above statements, choose the most appropriate answer from the
options given below

. Both Statement | and Statement |l are correct
. Both Statement | and Statement |l are incorrect
.Statement | is correct but Statement Il is incorrect

J5 LD M -

. Statement | is incorrect but Statement || is correct



2191 1 e sgrensi W GaR Sifeg
@Y - | ; Hiqus [Rufd o1 si-egies 5 FAege ga alg |

&Y - 1| ; Wiauell & i snver vaE uRiuREl o) g § us efae eray um
EIGIES

Iulad YA & Heie 3 FRfoRad faeeal # 8 98 S 9 -

1.0 | R 1 GH g 8

2. WY | 3R 1 G AT B

3. BYT | § &, fbeg @Y 1| S B
4, YT | Y &, [ & 1 90 8

[Question ID = 584][Question Description = 184_3_PHL_OCT22_S2_Q84]
1. 1 [Option ID = 2333]
2. 2 [Option ID = 2334]
3. 3 [Option ID = 2335]
4. 4 [Option ID = 2336]

85) Given below are two statements :

Statement |: Radhakrishnan rejects naturalistic explaination of the world as it fails to

appreciate the nature of the ultimate reality

Statement |I: The absolute is conceived by Radhakrishnan as pure consciousness,

pure freedom and infinite possibility,

In light of the above statements; choose the correct answer from the options given

below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3., Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true

HY - | AYTHUH 7Y BT UPiarc] el &1 JGIGR fbal Hife 9 U g 31
TPl & Tew o 95 { 9w @

TY - || - [ B VYHUH BRI G 9o [ Saadl AR T GUET & 30 F
e faar T

Sulad BYH! & Hreie 4 FRufoiad Aol # 9 98 3w 3 -

1. @Y | AR I EH T 8|

2. T | AR || GF SET B

3, BYF | F &, g DY || A B
4, TYT | ¥EA B, g FF 1 T B

[Question ID = 585][Question Description = 185_3_PHL_0CT22_S2_Q85]
1. 1 [Option ID = 2337]
2. 2 [Option ID = 2338]
3. 3 [Option ID = 2339]
4. 4 [Option ID = 2340]



86) Consider the following statements with reference to Igbal's intuition:
Statement I: Intuition is an immediate knowledge of reality.
Statement II: Intuition is the property of heart.

In light of the above statements; choose the correct answer fram the options given
below

1. Both Statement | and Statemenit |l are true
2, Both Statement | and Statement || are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true

SEaT @ A HIT B UGH H Mg Y-l 9T [d9R Bifg ;
HYH - | ; s TR W DT IS F 2

HY - 1) ; Ie: U ged o U &

SulE FYA & A 5 FEfiiEa e J 9 Tel oW -

1,89 | 3R | G T 8

2. FYF | AR | GF AET 8l

3. Y| 9 &, fg @Y 1 3[EA B
4,DY | HEA E, [ Y 1 9d 8l

[Question ID = 586][Question Description = 186_3_PHL_OCT22_S2_Q86]
1. 1 [Option ID = 2341]
2. 2 [Option ID = 2342]
3. 3 [Option ID = 2343]
4. 4 [Option ID = 2344]

87) Given below are two statements :

Statement I: Gandhian trinity of development consists in Saervodaye, Swadeshi and
Swaraj

Statement 1I: Gandhian trinity of development consists in Swadeshi, Swaraj and
Asteya

In light ef the above statements; choose the correct answer from the options given
below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement || is-false
4, Statement | is false but Statement [ is true



gy Rum s

HYF - | ; 7M1 P faepTH o 74| [gia # wdled, Wel R & Higa g |
TYF - || : el 3 famr & 7] faia H Wadll, TReg 4R oy Fied g
SUUE BYA| & AP & FEead (w3 9 vl Su g -

1. T | AR (1 S T &)

2. %Y | 3R (I GHT 3T B 1
3. BYT | G &, [g @Y || S B
4 YA | A S, g FH 1 9T )

[Question ID = 587][Question Description = 187_3_PHL_OCT22_S2_Q87]

1.1
2.2
3.3
4. 4

88)

[Option ID = 2345]
[Option ID = 2346]
[Option ID = 2347]
[Option ID = 2348]

Given below are two statemenis, one is labelled as Assertion A and the other

is labelled as Reason R

Assertion A : According to Madhva, Jiva (individual self) is not the same as
Brabman.

Reason R : Jiva (individual self) entirely depends on Brahman for its existence (satta),
Knowledge (pramiti) and action (kriya),

In light of the above statements; choose the correct answer from the options given
below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4, Ais false but Ris true

TR T RUTE: 05 @1 i@y (4) IR G & SR (R) F& ™ ¢l
AT (A) : 79 B HTON S04 (19T T2 & O9E Tol 6

BRI (R) ; W1 (Sarem o SR (6=, T4 (o) 3R gy & forg oof w0 & san
TR AMgT g gl

Sudad YAl 3 eie § Fifed fea H§ Y wd w3

1. (A) 3R (R) ST Fe1 € 3R (R), (A) P Hel AR 8 |

2. (A) 3R (R) THT T8I & U3 (R), (&) T T8 AT T80 8
3. (A) TE1 8 U (R) TR TRI B

4.(A) WBI 761 8 W (R HRT B

[Question ID = 588][Question Description = 188_3_PHL_0CT22_S2_Q88]

1.1
2.2
3.3
4. 4

[Option ID = 2349]
[Option ID = 2350]
[Option ID = 2351]
[Option ID = 2352]



89) Given below are two statements, one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A : Vedascannot be a ground for God's existance,
Reason R : God is the author of the Vedas.

In light of the above statements; choose the correct answer from the options given
below

1. Both A and R are true and R is the correct explanation-of A

2. Both A and R are true but R is NOT the caorrect explanation of A
3. Ais true but R is false

4, Ais false but R is true

TR T R e U5 o1 ATUDY (A) 3R g & SR (R) el T B
HIUFHU (a) : TG S T HT%TE &1 NYR T8 51 GHd 5
SR (R) ; R dal & gd 6
ST Tl & e | Faied e § § v e
1.(A) 3R (R) & T61 § STR (R), (A) P Hel AT 81
2. (A) 3R (R) T Te1 € O3 (R), (A) P Te! IR el 21

3, (A) HEI € U3 (R) B8 981 B
4.(A) TEI 981 8 U3 (R) T8 5

[Question ID = 589][Question Description = 189_3_PHL_OCT22_S2_Q89]
1. 1 [Option ID = 2353]
2. 2 [Option ID = 2354]
3. 3 [Option ID = 2355]
4. 4 [Option ID = 2356]

90) Given below are two statements, one is labelled as Assertion A and the other
is{abelied a5 Reason R
Amswer with reference to Mill's, Utilitarianisim

Assertion A : The general happiness is good to the aggregate of all persons,
Reason R : Each person’s happiness:is goed to the person concerned,

In light of the above statements; choose the correct answer from the options given
below

1. Both A and R are true and R is the correct explanation of A

2, Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, A is false but Ris true



Jid el oy QU E ;. Uo @ AHTHEYA (A) IR g8 & ©RY (R) Pel I gl
firet & guifimare & we & o i

ARy () : TAR & o adgE 9daH o

SR (R) : Wl & Y4 Hallea o] og 3oH o

SulE PYA & e & Fgifed e 8 9 gw e

1.(A) 3R (R) &1 WEl B 3R (R), (A) P el SrEH 21

2. (A) 3R (R) TIFT 961 & TR (R), (A) T Hel o418 78] &
3, (A) T8I 8 TR (R) &1 TRI &

4, (A) TETIET & U (R) TR B

[Question ID = 590][Question Description = 190_3_PHL_0CT22_S2_Q90]
1. 1 [Option ID = 2357]
2. 2 [Option ID = 2358]
3. 3 [Option ID = 2359]
4. 4 [Option ID = 2360]

Topic:- 3_PARTB_S2

1)

Read the below passage and answer the five questions that follow:

There are several reasons why " Know yourself " has obscured " Take care of
yourself *, We are miore inclined ta see taking care of ourselves as an immorality, as’
a means of escape from all possible rules. We inherit the tradition of Christian
morality which makes self-renunciation the condition for salvation. To know oneself
was, paradoxically, 3 means of self-renunciation, We also inherit a secular tradition
that sees in external law the basis for morality, Haw then can respect for the self be
the basis for merality? We are the inheritors of a social morality that seeks the rules
for acceptable behavior in relations with ethers, Since the 16th century, criticism of
established morality has been undertaken in the name of the importance of
recognizing and knowing the self. Therefore, it is difficult to see the tare of the self
as compatible with morality, "Know thyself” has obscured "Take care of yourself”
because our morality, a8 morality of asceticism, insist that the self is that which one
can reject.

.10 summarize: There has been an inversion in the hierarchy of the two principles
of antiquity, "Take care of yourself" and "Know yourself’, In Greco-Roman culture,
knowledge of oneself appeared as the conseguence of the care of the self. In the
modern werld, knowledge of oneself constitutes the fundamental principle”.

What de you understand as the import of this paragraph?

1. Greece-Roman understanding of Self

2. Compatibility of the care of the self with morality
3, Development of the understanding of Seff

4, Self as:the ultimate moral principle



Frafafes e $1 vesy usl & I S ;
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1. AT & dey J did g8 19 T 911

2, TS B 6@ - <@ B Ajamdl B

3, A & 74 31 [9od

4, ATH B A0 H 40P HGid @ © 95 8

[Question ID = 591][Question Description = 191_3_PHL_0OCT22_S2_Q91]
1. 1 [Option ID = 2361]
2. 2 [Option ID = 2362]
3. 3 [Option ID = 2363]
4. 4 [Option ID = 2364]

2)

Read the below passage and answer the five questions that follow:

There are several reasons why " Know yourself " has obscured " Take care of
yourself ", We are miore inclined to see taking care of ourselves as an immorality, as:
a means of escape from all possible rules. We inherit the tradition of Christian
morality which makes self-renunciation the conditien for salvation. To know onesalf
was, paradoxically, 8 means of self-renunciation, We also inherit a secular tradition
that sees in external law the basis for morality, How then can respect for the self be
the basis for morality? We are the inheritors of a social morality that seeks the rules
for acceptable behavior in relations with cthers, Since the 16th century, griticism of
established morality has been undertaken in the name of the importance of
recognizing and knowing the self. Therefore, it is difficult to see the care of the self
as compatible with morality, "Knew thyself” has obscured "Take care of yourself”
because our morality, 8 morality of asceticism, insist that the self is that which one
can reject.

.10 summarize: There has been an inversion in the hierarchy of the two principles
of antiquity, "Take care of yourself” and "Know yourself’. In Grece-Roman culture,
knowledge of oneself appeared as the consequence of the care of the self. In the
modern world, knowledge of oneself canstitutes the fundamental principle”,



"Know yourself® has obscured " Take care of yourself " because;

1. Our maorality is able to appropriate the Self

2. A morality of asceticisr rejects the Self

3, We inherited the tradition of Christian morality

4. Morality is recognized in terms of knowing the Self

fFrafaiEa =i $7 TgH UMl & 9T gireig ;
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[Question ID = 592][Question Description = 192_3_PHL_OCT22_S2_Q92]
1. 1 [Option ID = 2365]
2. 2 [Option ID = 2366]
3. 3 [Option ID = 2367]
4. 4 [Option ID = 2368]



3)

Read the below passage and answer the five questions that follow:

There are several reasons why " Know yourself " has obscured " Take care of
yourself ", We are miore inclined to see taking care of ourselves as an immorality, as'
a means of escape from all possible rules. We inherit the tradition of Christian
morality which makes self-renunciation the condition for salvation. To know oneself
was, paradoxically, 8 means of self-renundiation, We alsoe inherit a secular tradition
that sees in external law the basis for morality, How then can respect for the self be
thie basis for morality? We are the inheritors of a social morality that seeks the rules
for acceptable behavior in relations with sthers. Since the 16th century, criticism of
established morality has been undertaken in the name of the importance of
recagnizing and knowing the self. Therefore, it is difficult to see the care of the self
as compatible with morality. "Know thyself" has obscured "Take care of yourself”
because our morality, a morality of asceticism, insist that the self is that which one
can reject

.10 summarize: There has been an inversion in the hierarchy of the two principles
of antiquity, "Take care of yourself” and "Know yourself’, In Greco-Roman culture,
knowledge of oneself appeared as the consequence of the care of the self. In the
muodern world, knowledge of oneself constitutes the fundamental principle”,

Select tradition advocates one of the follewing :

1. External circumstances as the basis for morality,
2. Internal circumstances as the basis for morality,
3, Respect for law as the basis for morality,

4, External law as the basis for morality.
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1. 1 [Option ID = 2369]
2. 2 [Option ID = 2370]
3. 3 [Option ID = 2371]
4. 4 [Option ID = 2372]

4)

Read the below passage and answer the five questions that follow:

There are several reasons why " Know yourself " has obscured " Take care of
yourself *, We are miore inclined ta see taking care of ourselves as an immorality, as’
a means of escape from all possible rules. We inherit the tradition of Christian
morality which makes self-renunciation the condition for salvation. To know oneself
was, paradoxically, 3 means of self-renunciation, We also inherit a secular tradition
that sees in external law the basis for morality, Haw then can respect for the self be
the basis for merality? We are the inheritors of a social morality that seeks the rules
for acceptable behavior in relations with ethers. Since the 16th century, criticism of
established morality has been undertaken in the name of the importance of
recognizing and knowing the self. Therefore, it is difficult to see the tare of the self
as compatible with morality, "Know thyself” has obscured "Take care of yourself”
because our morality, a8 morality of asceticism, insist that the self is that which one
can reject.

.10 summarize: There has been an inversion in the hierarchy of the two principles
of antiquity, "Take care of yourself" and "Know yourself’, In Greco-Roman culture,
knowledge of oneself appeared as the conseguence of the care of the self. In the
modern werld, knowledge of oneself constitutes the fundamental principle”.

According to Michel Foucault ;

1. Renouncing thie world is a path towards salvation.
2, Self-realization and self-renunciation are same,

3, Self-renunciation Is the condition to salvation,

4, Self-knowledge is the condition for salvation.
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1. 1 [Option ID = 2373]
2. 2 [Option ID = 2374]
3. 3 [Option ID = 2375]
4. 4 [Option ID = 2376]

5)

Read the below passage and answer the five questions that follow:

There are several reasons why " Know yourself " has obscured " Take care of
yourself ", We are miore inclined to see taking care of ourselves as an immorality, as:
a means of escape from all possible rules. We inherit the tradition of Christian
morality which makes self-renunciation the conditien for salvation. To know onesalf
was, paradoxically, 8 means of self-renunciation, We also inherit a secular tradition
that sees in external law the basis for morality, How then can respect for the self be
the basis for morality? We are the inheritors of a social morality that seeks the rules
for acceptable behavior in relations with cthers, Since the 16th century, griticism of
established morality has been undertaken in the name of the importance of
recognizing and knowing the self. Therefore, it is difficult to see the care of the self
as compatible with morality, "Knew thyself” has obscured "Take care of yourself”
because our morality, 8 morality of asceticism, insist that the self is that which one
can reject.

.10 summarize: There has been an inversion in the hierarchy of the two principles
of antiquity, "Take care of yourself” and "Know yourself’. In Grece-Roman culture,
knowledge of oneself appeared as the consequence of the care of the self. In the
modern world, knowledge of oneself canstitutes the fundamental principle”,



According to Foucault, social morality implies one of the following :

1. Impertance of recognizing and knawing the Self

2, Impertance of external law

3. Seeks rules for acceptable behaviour in realtion with others
4, Impertance of the knewledge of oneself
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1)

Read the below passage and answer the following five questions.

Summing up, then, it should first of all, be berne in mind that the norms and
tendencies of the Deep Ecology movement are not derived frem ecology or logic
or induction. Ecological knewledge and the life style of the ecological field worker
have suggested, inspired and fortified the perspectives of Deep Ecology
movements. Secondly, it should be fully appreciated that the significant tenets of
the Deep Ecology movement are clearly and forcefully normative. They express a
value priority system only in part based on result{or law of results) of scientific
research. Today, ecologists try to influence policy-making bodies largely through
threats, through predictions cencarning pollutants and resource depletion,
knowing that policy makers accept at least certain minimum nerms concerring
health and just distribution. There are political potentials in this movement which
have little to de with pollution and resource depletion. Thirdly, in se far as ecology
movements deserve our attention, they are ecophilosophical rather than ecological.
Ecology is a limited science which makes use of scientific metheds: Philosophy is
the most general forum of debate on fundamentals, descriptive as well as
prescriptive, and political philosophy one of its subsections. By an ecasophy, | mean
a philesophy of ecological harmony eor equilibrium. A philosophy as a kind of Sofia
wisdom, is openly normative; it contains both norms, rules; postulates, value
priority announcements and hypotheses concerning the state of affairs in our
universe.. An ecosophy is'more like a system of the kind constructed by Aristotle
or Spinoza.. The basic relation is that between subsets of premises and subsets of
conclusions, that is, the relation of derivability. At the moment, ecosophy might
profitably use models of systems, rough approximations of global systemizations....
under the name of ecologism, varicus deviations from the deep movement have
been championed - primarily with a one sided stress on pollution and rescurce
depletion....”

In the name of ecologism, deep miovement has various deviations which are one

sided and laid emphasis om:

1. Ecological harmony

2. Pollution and rescurce depletion
3. Ecological knowledge

4. A theory of ecologism
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2)

Read the below passage and answer the following five questions.

Summing up, then, it should first of all, be berne in mind that the norms and
tendencies of the Deep Ecology movement are not derived frem ecology or logic
or induction. Ecological knewledge and the life style of the ecological field worker
have suggested, inspired and fortified the perspectives of Deep Ecology
movements. Secondly, it should be fully appreciated that the significant tenets of
the Deep Ecology movement are clearly and forcefully normative. They express a
value priority system only in part based on result{or law of results) of scientific
research. Today, ecologists try to influence policy-making bodies largely through
threats, through predictions cencarning pollutants and resource depletion,
knowing that policy makers accept at least certain minimum nerms concerring
health and just distribution. There are political potentials in this movement which
have little to de with pollution and resource depletion. Thirdly, in se far as ecology
movements deserve our attention, they are ecophilosophical rather than ecological.
Ecology is a limited science which makes use of scientific metheds: Philosophy is
the most general forum of debate on fundamentals, descriptive as well as
prescriptive, and political philosophy one of its subsections. By an ecasophy, | mean
a philesophy of ecological harmony eor equilibrium. A philosophy as a kind of Sofia
wisdom, is openly normative; it contains both norms, rules; postulates, value
priority announcements and hypotheses concerning the state of affairs in our
universe.. An ecosophy is'more like a system of the kind constructed by Aristotle
or Spinoza.. The basic relation is that between subsets of premises and subsets of
conclusions, that is, the relation of derivability. At the moment, ecosophy might
profitably use models of systems, rough approximations of global systemizations....
under the name of ecologism, varicus deviations from the deep movement have
been championed - primarily with a one sided stress on pollution and rescurce
depletion....”

What does Arne Naess intend to convey in this paragraph?

1. Advecating a theory of ecologism,

2. Advecating a philosephy of ecolagical harmeny.

3. Advacating the limitation of ecology as a science.

4. Advocating the perspective of Deep Ecology movement that has normative and
ecophilesephical dimensions,



Frafafes e $1 vesy usl & I S ;

G0 @ed U GauYH 98 WH ¥ W@ oK fo 997 aikfe® sigied @ I 3R
vafA uRkfefae) o1 9% o1 SET § E0d el &8s 8, URae! fage S
UIRFYRI®E &7 sRadH $1 diad 90l 4 994 gIRRae! e © 9ed W
TITE, TROT A T4 Ha e B

T, 59 91d @ I a8 WeAl @1 w1 diet e 9ue uikifa @1 sices @
Hewqy! oy Wy 9yl 93w €U & 9H$d € | 394 dyiiHe s & gens| whensf
@I AAqH) TR A YR W qed UYiEed) o &1 el of =il 8

TR & GaAEl ® SRd WIEd Pd 81 T8 9 8¢ f@ A gl |9 SR
el fGoRel O SEh $F o8 I @ 99 O 1 59 Siaed 8 B8 Tl o1
Tyrar off Bl € o or Jer el 691 9 9ifet 3 S UgHY X ganeH
&R H BE ag &1 T Bl

o, oiRfRfae! afdes # o &= oA B 3 uiRfRfost &1 aun oiifRifae)
SEeal B &) MRS TP Wi (G919 © foeH awii—e [aiedl @ 5 e
W1 & | GRAT Hordd aUHTeS adl Hosiad giadl &l garad 9 B & ayl
AGIE &¥H 39@ 99 YU Bl uiefet st @ o & uivifGe
HHE 4] 99, d@ed @ Y § GUHuRd 9edey § A6 g1 3945 JHgs,
o, sl 9% urea), Sguems] oyl fayed] @l @ ') ged U
UiFsedH] GHl @] GHGY 8| DRG] ei-aed HRE a1 RyAe R A o
UBR B UOEl g SFl H Hu ddY HUR 9 R Hwed @ gued=d ©
FaEREd @1 g8yl T PUR TNRRET SIHNRe WOTel & el aiE®
AT § Tl SO & Hoas o WA 6] 9 & Uiifamias © 99 1)
e Ao | it afaaq! & gads e 7 3| RYive ugue R g &
&R0 UR UhaRp] A fGaT T B

S G0 H 34 59 1 HTHHE &4 87
1. OIRFR@IaE © MGl o 9 @
2. INR®TE e & GIHeeE & 9aYT Bl
3. fogm & =y # uitfafe & ol s auds &
4.7y gifRfE® Eea & uRew & g o Sue gFem <R
gikfEfa®Y el ePam 8l

[Question ID = 597][Question Description = 197_3_PHL_OCT22_S2_Q97]
1. 1 [Option ID = 2385]
2. 2 [Option ID = 2386]
3. 3 [Option ID = 2387]
4. 4 [Option ID = 2388]



3)

Read the below passage and answer the following five questions.

Summing up, then, it should first of all, be berne in mind that the norms and
tendencies of the Deep Ecology movement are not derived frem ecology or logic
or induction. Ecological knewledge and the life style of the ecological field worker
have suggested, inspired and fortified the perspectives of Deep Ecology
movements. Secondly, it should be fully appreciated that the significant tenets of
the Deep Ecology movement are clearly and forcefully normative. They express a
value priority system only in part based on result{or law of results) of scientific
research. Today, ecologists try to influence policy-making bodies largely through
threats, through predictions cencarning pollutants and resource depletion,
knowing that policy makers accept at least certain minimum nerms concerring
health and just distribution. There are political potentials in this movement which
have little to de with pollution and resource depletion. Thirdly, in se far as ecology
movements deserve our attention, they are ecophilosophical rather than ecological.
Ecology is a limited science which makes use of scientific metheds: Philosophy is
the most general forum of debate on fundamentals, descriptive as well as
prescriptive, and political philosophy one of its subsections. By an ecasophy, | mean
a philesophy of ecological harmony eor equilibrium. A philosophy as a kind of Sofia
wisdom, is openly normative; it contains both norms, rules; postulates, value
priority announcements and hypotheses concerning the state of affairs in our
universe.. An ecosophy is'more like a system of the kind constructed by Aristotle
or Spinoza.. The basic relation is that between subsets of premises and subsets of
conclusions, that is, the relation of derivability. At the moment, ecosophy might
profitably use models of systems, rough approximations of global systemizations....
under the name of ecologism, varicus deviations from the deep movement have
been championed - primarily with a one sided stress on pollution and rescurce
depletion....”

Deep Ecology movement is fortified by one of the following:

1. Policy-making bodies by ecologists,

2. A movement that culminated in ecosophy.

3. Ecological knowledge and the life style of the ecological field workers,
4 A policy that emphasizes ecological harmeny.
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4)

Read the below passage and answer the following five questions.

Summing up, then, it should first of all, be berne in mind that the norms and
tendencies of the Deep Ecology movement are not derived frem ecology or logic
or induction. Ecological knewledge and the life style of the ecological field worker
have suggested, inspired and fortified the perspectives of Deep Ecology
movements. Secondly, it should be fully appreciated that the significant tenets of
the Deep Ecology movement are clearly and forcefully normative. They express a
value priority system only in part based on result{or law of results) of scientific
research. Today, ecologists try to influence policy-making bodies largely through
threats, through predictions cencerning pollutants and resource depletion,
knowing that policy makers accept at least certain minimum nerms concerring
health and just distribution. There are political potentials in this movement which
have little to do with pollution arid resource depletion. Thirdly, in se far as ecology
movements deserve our attention, they are ecophilosophical rather than ecological,
Ecology is a limited science which makes use of scientific metheds: Philosophy is:
the most general forum of debate on fundamentals, descriptive as well as
prescriptive, and political philosophy one of its subsections. By an ecasophy, | mean
a philosophy of ecological harmony or equilibrium. A philosophy as a kind of Sofia
wisdom, is openly normative; it contains both norms, rules;, postulates, value
priority announcements and hypotheses concerning the state of affairs in our
universe.. An ecosophy is'more like a system of the kind constructed by Aristotle
or Spinoza.. The basic relation is that between subsets of premises and subsets of
conclusions, that is, the relation of derivability. At the moment, ecosophy might
profitably use models of systems, rough approximations of global systemizations....
under the name of ecologism, varicus deviations from the deep movement have
been championed - primarily with a one sided stress on pollution and rescurce
depletion....”

According to Naess, Deep Ecology movement involves;

1. Value priority system based on results of scientific research,
2, Scientific potentials based on scientific research.

3, Policy-making bodies of ecolagists:

4, A philosophical outlook that implies ecological harmiony.
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[Question ID = 599][Question Description = 199_3_PHL_OCT22_S2_Q99]
1. 1 [Option ID = 2393]
2. 2 [Option ID = 2394]
3. 3 [Option ID = 2395]
4. 4 [Option ID = 2396]



5)

Read the below passage and answer the following five questions.

Summing up, then, it should first of all, be berne in mind that the norms and
tendencies of the Deep Ecology movement are not derived frem ecology or logic
or induction. Ecological knewledge and the life style of the ecological field worker
have suggested, inspired and fortified the perspectives of Deep Ecology
movements. Secondly, it should be fully appreciated that the significant tenets of
the Deep Ecology movement are clearly and forcefully normative. They express a
value priority system only in part based on result{or law of results) of scientific
research. Today, ecologists try to influence policy-making bodies largely through
threats, through predictions cencarning pollutants and resource depletion,
knowing that policy makers accept at least certain minimum nerms concerring
health and just distribution. There are political potentials in this movement which
have little to de with pollution and resource depletion. Thirdly, in se far as ecology
movements deserve our attention, they are ecophilosophical rather than ecological.
Ecology is a limited science which makes use of scientific metheds: Philosophy is
the most general forum of debate on fundamentals, descriptive as well as
prescriptive, and political philosophy one of its subsections. By an ecasophy, | mean
a philesophy of ecological harmony eor equilibrium. A philosophy as a kind of Sofia
wisdom, is openly normative; it contains both norms, rules; postulates, value
priority announcements and hypotheses concerning the state of affairs in our
universe.. An ecosophy is'more like a system of the kind constructed by Aristotle
or Spinoza.. The basic relation is that between subsets of premises and subsets of
conclusions, that is, the relation of derivability. At the moment, ecosophy might
profitably use models of systems, rough approximations of global systemizations....
under the name of ecologism, varicus deviations from the deep movement have
been championed - primarily with a one sided stress on pollution and rescurce
depletion....”

According to Naess, ecosophy is:

1. A theory of ecologism.

2. A philosophy of ecological harmony.

3. A limited science based on scientific methods.
4, A normative theory on ecology.
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[Question ID = 600][Question Description = 200_3_PHL_0OCT22_S2_Q100]
1. 1 [Option ID = 2397]
2. 2 [Option ID = 2398]
3. 3 [Option ID = 2399]
4. 4 [Option ID = 2400]

Topic:- 13_GP_SH1_S2_A



D The fﬁl]DWing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

The number of Colleges offering the Python course is more
than 460 in

1. All the four states

2. Only three states

3. Only two states’

4, Only one state
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C |[74% [88%84 % 36 % (20 %

D 68% |64%68 % 70 % 30 %
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[Question ID = 701][Question Description = 101_0_GP28_0CT22_52_Q01]
1 [Option ID = 2801]
2 [Option ID = 2802]
3 [Option ID = 2803]
4 [Option ID = 2804]

A wpN =



2) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

The total number of Colleges-offering Al in all the four
states is

1.2784

2.2816

3. 2864

4, 2552
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[Question ID = 702][Question Description = 102_0_GP28_0CT22_52_Q02]
1. 1 [Option ID = 2805]
2. 2 [Option ID = 2806]
3. 3 [Option ID = 2807]
4. 4 [Option ID = 2808]



3) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

if M and N represent the total number of Colleges offering
Python and Java, respectively, in all the four states, then M-
N=

1.64

2.96

3.48

4. 32



[Question ID = 703][Question Description = 103_0_GP28_0CT22_52_Q03]
. 1 [Option ID = 2809]

A wnN =
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A 186%: (74959 % 56 9% (35 %

B |80% [029%82 % 349 |15 9%

C |[74% (658 %[84 % 36 % (20 %

D 1689% |64%68% 70 % 130 %
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g M-N=

1. 64

2.96

3.48

4,32

2 [Option ID = 2810]
3 [Option ID = 2811]
4 [Option ID = 2812]



4) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

Ratio of the number of Colleges offering Multimedia in
State C to that of State D is

1.2:3

2.11:13

3. 7417

4,13:16



TR YR Il A-D H UBYHE, o1al, GeciHieql 3T T 315 |
IR T 21 BIY (UIe0®H ) HHE B didl Jelaeiadl @l
vierTiet {3 au & S8R gl diee 5 Haiid

& | afre & IR Usdl § Heifaenerdl o1 Ge &1 fgaeo o
Uiea-ar fem T B | IR Ul § Heifaaradl o o 9=
4000 3| A1fcreT & 68 78 3fies & SMYR W UY 1-5 BT 371
gifore -

T2 1 UTEUH ATHY HI aTe HEiSeTedl ®f Isaar
I B

TeTaEel @1 AR B &

“Uu% e @ SE @

SefgaRu

Hﬁﬂqwnﬁﬂmﬁmgﬂé

A 196 % (74959 % 56 % (35 %

B |80% [02%32% 34 9 |15 9%

C |[74% [88%84 % 36 % (20 %

D 68% |64%68 % 70 % 30 %

T C § Ao Hiiea A H ale Agiaaiadl ol e @
ST 3058 D &1 HUg a1 g ;

1.2:3

2,.11:13

3.14:17

4 13:16

[Question ID = 704][Question Description = 104_0_GP28_0CT22_52_Q04]
1. 1 [Option ID = 2813]
2. 2 [Option ID = 2814]
3. 3 [Option ID = 2815]
4. 4 [Option ID = 2816]



%) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

Number of Colleges offering Java in State B is ----% of the
number of Colleges offering Al in State C,

1.78.15

2.8023

3. 82.25

4, 8452
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[Question ID = 705][Question Description = 105_0_GP28_0CT22_S2_Q05]
1. 1 [Option ID = 2817]
2. 2 [Option ID = 2818]
3. 3 [Option ID = 2819]
4. 4 [Option ID = 2820]

Topic:- 13_GP_SH1_S2_B
L Which of the following Developmental areas of individual
differences will be effected, if a Child opts for frequent out
bursts and throws tantrums?

1. Social

2. Mental

3. Emotional

4. Physical
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1. TS

2 JAFS

3, HaTTES

4. IRIRG

[Question ID = 706][Question Description = 106_0_GP28_0CT22_S2_Q06]
1. 1 [Option ID = 2821]
2. 2 [Option ID = 2822]
3. 3 [Option ID = 2823]
4. 4 [Option ID = 2824]

2) Which of the fellowing is outside the Teacher-
Centric Methed?

1. Demonstration

2. Team teaching

3. Inguiry approach

4, Lecture method

Fafotea ¥ 4 oF Ree-oisd A & srria 381 o &2
1. f35Em
2. 5a (E1H) e
3. S 3UFTH
4. g faiy

[Question ID = 707][Question Description = 107_0_GP28_0CT22_S2_Q07]
1. 1 [Option ID = 2825]
2. 2 [Option ID = 2826]
3. 3 [Option ID = 2827]
4. 4 [Option ID = 2828]

3) Which aspect indicates to be the most relevant in decision

miaking process according to Kohlberg's theory of moral
development 7

1. The age of the Child

2, Knowledge of Law

3. Influence of friends and Siblings

4. How the child arrives at Conclusion

Bigaat & ia® [GETE & GSid B JTaR o ufea
®IH-T1 U4 GaNu® WenTe o ®] AR SH1d Bl 87
1.5 3l A
2. B @1 I
3. i3l vd weie] @ UHE
4. 591 (o5 & Poaar &



[Question ID = 708][Question Description = 108_0_GP28_0CT22_52_Q08]
1. 1 [Option ID = 2829]
2. 2 [Option ID = 2830]
3. 3 [Option ID = 2831]
4. 4 [Option ID = 2832]

4) Which among the following are the MOOCs; Platforms 7

A. Google Mest
B, Coursera

C. Zoom

D. Future Learn
E. Turnitin

Choose the correct answer from the options given below,
1.A Dand E only
2.B, D and E ornly
3.B and D only
4. C and D only

T T 9 oH 4@ <o (49 §7
A TITE HIZ
B. BT
C. 9H
D. W @
E. TR
i ey e Aol S W1 IR 9 ;
1. 390 A DR E
2. %dd B, D AR E
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[Question ID = 709][Question Description = 109_0_GP28_0CT22_52_Q09]
1. 1 [Option ID = 2833]
2. 2 [Option ID = 2834]
3. 3 [Option ID = 2835]
4. 4 [Option ID = 2836]



%) Match List | with List 1l

List | List I

-Il_-ey::ns;:; Meaning

A. Factual I. This Learning is used to organize
Learning informatian in logical structure

B. Association |Il. This Learning is used to develop
Learning personality and think coherently

C. Conceptual |[lIl. This Learning is used to organize
Learning sequence of activities to achieve a goal
D. Procedural |1V, This Leaming is used to connect with
Learning information more deeply and accurately

Choose the correct answer fram the options given below:
TA-ILB-IV,E-,B-Ill
ZA-ILB-LC-NIlLB-IV
A-ILB-L,E-VD-1
4A-N,B-LC-IV,D-1

gl - -1l

A & PR |y

A THRD I, 56 HRITH &1 3TN g9 3 dlio® 9

HieH TiTiad @3 B fobg1 Sl 81
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[Question ID = 710][Question Description = 110_0_GP28_0CT22_52_Q10]
1. 1 [Option ID = 2837]
2. 2 [Option ID = 2838]
3. 3 [Option ID = 2839]
4. 4 [Option ID = 2840]



6) One of the aims of qualitative data analysis is to
1. Expand the Selected text or material
2. Analyse the researcher’s credentials
3. Describe a phenomenon
4. Focus on binary dissection

st P OIS AZATY & GaIT H 4 U & ;
1. T 916 41 Al &1 T9%aR ®RA]
2. TiE@diAl & UAd| B Gy @il
3, Tl oRua &1 avia &3
4, TgafToies fwsea U & Shiad

[Question ID = 711][Question Description = 111_0_GP28_0CT22_S2_Q11]
1. 1 [Option ID = 2841]
2. 2 [Option ID = 2842]
3. 3 [Option ID = 2843]
4. 4 [Option ID = 2844]

7) Virtual ethniography is Iccated ina/an

1. Natural environment
2. Technical environment
3. Political environment
4, Fconomic environment

ST T g GaR & URaN & Efd g 8
1. Fufi® oiay
2. HID] gRag
3. TeITa® aivae
4, 31T giam

[Question ID = 712][Question Description = 112_0_GP28_0CT22_52_Q12]
1. 1 [Option ID = 2845]
2. 2 [Option ID = 2846]
3. 3 [Option ID = 2847]
4. 4[Option ID = 2848]



8 . . = i
) The major ethical aspects of survey based research are;

A, Protection of Participants from any kind of harm.
B. Publicise the engagement of participants

C. Distinguish between different Strata of People.
D. Not to affect individual Privacy,

E. Use individual Privacy for Private Profit,

Choose the correct answer from the options given below,
1.A Band Conly
2.B, Cand D only
3.A Cand Eonly
4. A and D only

A& e Ty & U AT0® Ued e ;

A, GEMIFT! &1 68l TSR ®I 5114 4 ST

B, GEHITT & Gl B alp oy &

C. Tl At &R & &g 3 H1
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[Question ID = 713][Question Description = 113_0_GP28_0CT22_S2_Q13]
1. 1 [Option ID = 2849]
2. 2 [Option ID = 2850]
3. 3 [Option ID = 2851]
4. 4 [Option ID = 2852]



%) Which of the following are advantages of content analysis?

ftisa;

A, Transparent research method

B. Non- reactive method

C. Flexible method

D. Method that does not need a coding manual
E. Method that is free of any kind of framework

Choose the correct answer fram the options given below;
1.A Band Conly
2.B, Cand D only
3.C, Dand Eanly
4. A DandEonly

Pt # 4 - R o AR s oy g -
A, URGRI iy iafy

B. TR~ Wil ares wiay

C. T Tidfy

D. Uiy forgd ifeT g 1 S1awasd Tl &
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2. %adAB, CHRD
3.PadC DANE
4, FadA DANE

[Question ID = 714][Question Description = 114_0_GP28_0CT22_S2_Q14]
1. 1 [Option ID = 2853]
2. 2 [Option ID = 2854]
3. 3 [Option ID = 2855]
4. 4 [Option ID = 2856]



10 .
) Given below are two statements

Statement |: Positivism Says that Sciences need not be
free from Speculative and metaphysical approaches

Statement ll: Positivism is Suitable for natural Sciences

In light of the above statements, choose the most
apprapriate answer from the optians given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement || is incorrect
4. Statement | is incorrect but Statement Il is correct

FaciavAE RumeE:
Y - | : TUATE Badl & [0 195 Bl HTAHES AR
wHifaE =P € gad 5 B HaaHdl Tel o

TYF - || : UTHATE TPIaqH & S5a s
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4 Y| 3T 8, g o 1 T8 B

[Question ID = 715][Question Description = 115_0_GP28_0CT22_52_Q15]
1. 1 [Option ID = 2857]
2. 2 [Option ID = 2858]
3. 3 [Option ID = 2859]
4. 4 [Option ID = 2860]

11 d . y
) Media messages-consist of various layers of

1. Rationalisation

2, Complex resistance
3. Polymorphic meaning
4. Restrictive rituals

Hitsar demt & Fafofea 3 4§ fooe Rty wd gidi & -
1. Diga@ie
2. WiEy ufcRiy
3. §g&U] Y
4, Jidde® FEH

[Question ID = 716][Question Description = 116_0_GP28_0CT22_S2_Q16]
1. 1 [Option ID = 2861]
2. 2 [Option ID = 2862]
3. 3 [Option ID = 2863]
4. 4 [Option ID = 2864]



12 T ; :
) A source of Communicative inefficiency is

1. Desire for Personal gratification
2. Implications of familiar relations
3. Peer Pressure

4, Limited Knowledge

HHT & @1 Gid HHiad H 4 @ 9 e ?
1. ST SO B 38!
2. guRiad Seyl & Ffsad
3. YD B GaE
4, Hifgd 34

[Question ID = 717][Question Description = 117_0_GP28_0CT22_S2_Q17]
1. 1 [Option ID = 2865]
2. 2 [Option ID = 2866]
3. 3 [Option ID = 2867]
4. 4 [Option ID = 2868]

13) Which of the following are elements of congenial

classroony atmasphere?

A Creating a conducive atmosphere

B. Engaging in individual efforts

C. Supportive team work

D. Negotiable movemernit inside the classroom
E, Immersive listening

Choose the correct answer from the options given below,
1.4, B and Eonly
2.4 CandEonly
3.B, Cand D only
4.C, D and E only



fafafad 5 ¥ ®F | Hos o&T aaay @ 9d o7
A, T Qa1aeo @ a1

B, TfeaTTd HarEl & Iiad gl
C. ggarfidm ol
D. H& & Hic [AAag Maras

£, Fewad® sam

I fau e famadl 4 G Wel S 9 -
1. 990 A, B ARE
2. Fad A CHRE
3. %adA B CHRD
4 FaACDIANE

[Question ID = 718][Question Description = 118_0_GP28_0CT22_S2_Q18]
1. 1 [Option ID = 2869]
2. 2 [Option ID = 2870]
3. 3 [Option ID = 2871]
4. 4 [Option ID = 2872]

14) Which of the following can be categorised as non-verbal

communication?

A, Pleasant Voice

B, Postures

C. Gestures

D. Facial expressions

E. Viociferous greetings

Choose the correct answer from the options given below:,
1.4, Band Conly
2.8, Cand Eonly
3. C, D and E only
4.8, Cand D only



Fofofeg § 4 58 f-aos duyu o wu F dvftas feea
AIFAE 7

A, TR &R

B, HiE

C. Tba (FE9)
DY @l SiHeidl
E. SNGR g

Id fau Tt fagad! § 4 waife 3ugen 9o &1 997
Bt :

1. BT A, B IR C

2, FaE B CHRE

3.PadAC DIANE

4 FAAB, CHRD

[Question ID = 719][Question Description = 119_0_GP28_0CT22_S2_Q19]
1. 1 [Option ID = 2873]
2. 2 [Option ID = 2874]
3. 3 [Option ID = 2875]
4. 4 [Option ID = 2876]

1 5
%) Given below are two statements

Statement I: Most of the time, communication is loaded
with pewer value,

Statement II: Those who do not have the power of
gommuriication always seek to possess it,

In light of the above statements, choose the most
appropriate answer from the optiens given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct



Jaci Py U

HYT - | : AT YIS & 9y Ao 8 95 oS Ted
2

&Y - 1| ; fore gg diny S wiea g el e 4 ea 2g
sSfgEETaRd ol

e DYA| & HSI® H FHfciad el H 8 Uel 3w
o -

1. Y7 | AR || ST EE B

2. @Y | 3R 1 G e & |

3.0y Td e, g @y 1 Tad 8 |

4. Y| FHA T, g P 1| TET &

[Question ID = 720][Question Description = 120_0_GP28_0CT22_52_Q20]
1. 1 [Option ID = 2877]
2. 2 [Option ID = 2878]
3. 3 [Option ID = 2879]
4. 4 [Option ID = 2880]

16) One day a man left his home for a morning walk and went

12 km southwards. He then turned right and walked 8 km.
Again turned right and walked 12 km, turned left and
walked 10 km. How many Killometers the man has to-walk
to reach straight to his home?

22 km

18 km

20 km

24 km

P R PN

T o1 0P o Yoo &1 OR & 100 R 4 o 31X 12
foosl] Sf&mT &1 SR 71T 98 99 a1; alfe-l SR 491 AR 8
foell = | Us R 1 Tife- J31 IR 12 6 9ar he el
SR {1 3R 10 T4 =el| afda @I 9iF 30+ W Ygud &
fore fva Toaiie 9o g7

22 fepHf

18 fepeit

20 Tt

24 Tl

[ -

Bow

[Question ID = 721][Question Description = 121_0_GP28_0CT22_52_Q21]
1. 1 [Option ID = 2881]
2. 2 [Option ID = 2882]
3. 3 [Option ID = 2883]
4. 4 [Option ID = 2884]



17 The price of a jewel, passing three hands, rises on the

whole by 65%. If the first and second sellers eamed 20%
and 25%: profit respectively, find percentage profit earned
by the third seller.

1.10%

2.15%

3.16%

4.12%

4! 1 @1 9oy, JiF [dearal § T[ed g¢ G9Yd: 65% 96
SIdl 81 9 Uy SR Tgai fadhal o SH: 20% 3R 25%
AT T 81aT &, @ gaid [desal g Hfsid afad oy 31
Bifon?

1.10%

2.15%

3.16%

412 %

[Question ID = 722][Question Description = 122_0_GP28_0CT22_52_Q22]
1. 1 [Option ID = 2885]
2. 2 [Option ID = 2886]
3. 3 [Option ID = 2887]
4. 4 [Option ID = 2888]

18) In an examination 42% students failed in Mathematics and

52 % failed in Science, If 17% failed in both the subjects,
find the Percentage of those Who Passed in both the
subjects,

1.23%

2.25%

3.27T%

4.30%

feoelt ol = 425 faamff 7o & ool 810 & ok s2%
G & ol 810 1 3fe 17 ot gt fauat 3§ sl
ST &, ol i [a9d] & Sl g ard faepiddl o uigwd
HIfey ;

1.23%

2.25%

3.27%

4.30%

[Question ID = 723][Question Description = 123_0_GP28_0CT22_52_Q23]
1. 1 [Option ID = 2889]
2. 2 [Option ID = 2890]
3. 3 [Option ID = 2891]
4. 4 [Option ID = 2892]



19) A 729 ml of a mixture contains milk and water in the ratio

of 7 ; 2. How much miore water is to be added to get a new
mikture containing milk and water in the ratio of 7 : 37
1.81ml
2.90 ml
3.85ml
4.75 ml

7% 729 el & Fyo d gu SR wa @1 U 7.2 8, 91 72
@ U1 H qY SR S o (Y9 Bl UIE & & (68 fda]
1. 81 fael
2. 90 el
3. 85 fH@l
4,75 Tt

[Question ID = 724][Question Description = 124_0_GP28_0CT22_52_Q24]
1. 1 [Option ID = 2893]
2. 2 [Option ID = 2894]
3. 3 [Option ID = 2895]
4. 4 [Option ID = 2896]

20) Find the next term in the series given below.

124, 148, 196, 268, 364, 7
1. 484
2. 584
3. 464
4. 268

= G1 773 S 5 e UG §id GBI ;
124, 148, 196, 268, 364, 7

1.484

2.584

3. 464

4, 268

[Question ID = 725][Question Description = 125_0_GP28_0CT22_52_Q25]
1. 1 [Option ID = 2897]
2. 2 [Option ID = 2898]
3. 3 [Option ID = 2899]
4. 4 [Option ID = 2900]



21) Which of the following statements are logically equivalent?

A NoPisS

B. Some S are non-P

C. Some non-P are not non-5
D.Some S are not P

Choose the correct answer from the options given below;
1.B and Conly
2.Cand D only
3.B, Cand D only
4 4B CandD

Feifrd s S oH 4 @y aib® ef 4 F9H &
A BIRPSTo edIel

B. PO STR-PE &
CPBIRPIRSTRI el gl

D.©®S PHsleld &

T f&u e faded § € 98] IR 9 ;
1. Haa B AR C

2. FEACHRD

3, Pad B, CHRD

4.4 8C3RD

[Question ID = 726][Question Description = 126_0_GP28_0CT22_S2_Q26]
1. 1 [Option ID = 2901]
2. 2 [Option ID = 2902]
3. 3 [Option ID = 2903]
4. 4 [Option ID = 2904]

22) "Considering the Speech given by the School Principal

taday, | would conclude that he is'net a good
Public Speaker.” Identify the informal fallacy committed in
the above argument.

1. Slippery Slope

2. Ad hominem

3. Appeal to force

4. Hasty Generalisation



T e & WEr gRI fol T8 4180 R R axd ge i
7g e FiaTel e 9 999 ol gaaT 98 & | Sude
TG # AT SFIBIRD e oIy B T iy ;

1. TR =i1Y

2. USEIEH

3. §0-318

4. @ A @

[Question ID = 727][Question Description = 127_0_GP28_0CT22_S2_Q27]
1. 1 [Option ID = 2905]
2. 2 [Option ID = 2906]
3. 3 [Option ID = 2907]
4. 4 [Option ID = 2908]

23) Which of the following is true regarding Inductive

argument?

1. if all the premises are true, the-conclusion must be
trise.

2.IT claims:to support its conclusion anly with some
degree of probability

3. It claims to Support its conclusion condusively

4. Conclusion is'completely contained already in the
premises

HTHATES Giad & a) H 1 91 &Y T8l 8 :

1. T% T HTUR 9199 9l & al [0y AFara: 98 8
el

2. 35 fred % TaYH @1 ga Baa ST @) 58
g s ol A gl

3. 394 Frey o wogef el @ a1 fea s g

4 9% e qofa: Ugd 9 € MU aren & Sfafay g
gl

[Question ID = 728][Question Description = 128_0_GP28_0CT22_S2_Q28]
1. 1 [Option ID = 2909]
2. 2 [Option ID = 2910]
3. 3 [Option ID = 2911]
4. 4 [Option ID = 2912]

24 - . i
) When inference is based not on causation but

on uniformity of co-existence, what is it called as per
Classical Indian School of Logic?

1. Kevalanvayi

2. Samianyatadrsta

5. Parvavat

4. Sef,avat



8 SH BH-BRU UG TR AU 7 5/ Ge-3iwa B
U@ T I AU Bl & ) d HROd 19 90 &
3FTHR F 941 B8l Sl & ?

1. SHaaaa

2. HHEFgAIEP

3. gdad

4. ¥9ad

[Question ID = 729][Question Description = 129_0_GP28_0CT22_S2_Q29]
1. 1 [Option ID = 2913]
2. 2 [Option ID = 2914]
3. 3 [Option ID = 2915]
4. 4 [Option ID = 2916]

25) Which of following is true regarding Classical Indian School

of Logic?

A, It isdeductive

B. It is inductive

C. It isformal

D. It is matenal

E, it always leads from universal to particular enly

Choose the correct answer from the options given below:
1.4, B Cand Donly
2.B and Conly
3. A and D anly
4 A B CDandE

Y10 IE T d@Hd & &R 4 Hgiied 3 8 @ 9@
Tele:
A T8 FTETES a8l

B. U8 HTHAIHD il 8

C. 98 IS el &

D. UE UG g g |

£, T8 Had U] WEU A a9y 1659 ©1 3R Ugd ol o

i f&u e faded § € 98] SR 9 :
1. @GAA, B.CHRD
2. FAAB AN C
3. FATAARD
4 A BCDINE

[Question ID = 730][Question Description = 130_0_GP28_0CT22_52_Q30]
1. 1 [Option ID = 2917]



2. 2 [Option ID = 2918]
3. 3 [Option ID = 2919]
4. 4 [Option ID = 2920]

26) MIDI is associated with the storage-of music files. MIDI is

an acronym for__
1. Musical Interactive Digital Interface
2, Musical Instructions Device Interpreter
3. Mask [terative Display Instance
4. Musical Instrument Digital Interface

TH 1S BT AR Tifa (i) gl & Yenu | g4
oH T 31 9 Meifea § 4 e Rt we ohadi o=t &
2. "l grac oY [SaIgH SeXhed
3. A% 3iciicg foud 3%y
4. FffSin e ggHe fefored geehd

[Question ID = 731][Question Description = 131_0_GP28_0CT22_52_Q31]
1. 1 [Option ID = 2921]
2. 2 [Option ID = 2922]
3. 3 [Option ID = 2923]
4. 4 [Option ID = 2924]



27)

Maohit has sent an email to Bobby, Danny and Ashok as
shown below;

From : Mohit@gmail.com
To : Bobby@gmail.com
Cc : Danny@gmail.com

Bec : Ashok@gmail.com

Subject : Important update

Dear

Colleague,

Please note that tormorrow’s meeting has been cancelled.
Regards-

Mohit

Which of the following statements is Correci?

1. Bobby and Danny are aware that Ashok received the
email

2. Danny is aware that Ashok and Bobby received the
email

3. Ashok is aware that Bobby and Danny received the
email

4. All recipients are ‘aware that the others received the
email.



Hifed 7 A1, T3 U5 P Bl 3 56 Hiod (60 & od 59
PLATE T K

From: Mohit@gmail.com
To: Bobby@gmail.com

Cc Panny@gmail.com

Bec: Ashok@gmail.com

Subject: Impertant Update

Dear Colleague
Please note that tomorrow’s meeting has been cancelled
Regard

Mohit

T an-w ey Tel 8l
1. 418l SR 590 1 T € fob SfR1e @Bl 3-+¥e1 Wi &l T
2. %‘;ﬂﬁfﬁﬂﬁﬁﬂ? ity 37 Sl @l §-Hr WIed & T
3. z;ﬁaﬁm%ﬁ?éﬁﬁ R 41 @1 §-57 U 8l
a4, ziﬁ%mﬁhﬁm‘rm%ﬁ 3 gaft @ 5-ga U
T E

[Question ID = 732][Question Description = 132_0_GP28_0CT22_S2_Q32]
1. 1 [Option ID = 2925]
2. 2 [Option ID = 2926]
3. 3 [Option ID = 2927]
4. 4 [Option ID = 2928]

28) Which of the following are web search engines?

A. DuckDuckGo
B. Google

C. Yahoo search
D. Bing

E, Pinterest

Cheose the correct answer from the options given below:
1.8, Cand D only
2.4 B Cand Donly
3. B and Eonly
4. A C DandE only



FHiaRad 5 9 ®F 99 99 391 o7
ASHSH

B, TFTd
C. UIg I
D. &
E, fvw

I fau e famadl 4 G Wel S 9 -
1. &9 B, C AR D
2. FadA B CHRD
3. FadBIRE
4 FaAA C DIHRE

[Question ID = 733][Question Description = 133_0_GP28_0CT22_S2_Q33]
1. 1 [Option ID = 2929]
2. 2 [Option ID = 2930]
3. 3 [Option ID = 2931]
4. 4 [Option ID = 2932]

29)  \atch List | with List 11

List | List I
(Statement) (Value)
4. The number of bits that make up a byte .5

B. Base - 10 (denary) value of the binary number;

1.8
001111

C. Number of minutes to upload a 75 megabyte I 18
file at 2 Megabits per second upload speed '

D. If there are 2° bytes in a Kilobyte then what is
the Value of P7

.15

Choose the correct answer from the options given below:
T.A-LB-ILC-1ILD-IV
2ZA-ILB-IV,E-|,D-1ll
A-NLB-IVC-1,D-1
A A-1LB-1L,C-M,D-1Il



e -1 1 -1l e B ;

|

U

A, {9y ®f 95 9] ey Ue 913 &l 6|

8. TESMHR 9= 001111 T 89- 10 @EE®) 59

C. 2 ifaey ufa Ydbe Hudis Wie R @y 75 AERe &
HEd b AUAIS & 8§ O ardd 5

D. 3f% U fhaiiaze H 2° S15¢H 8f <l P &1 d1F a1 shI?
7 feu U fdwedt © € 98 S I
1.A-LB-1,C-1I,D- IV

2A-WB-IV,C-1, D=l

3LA-NLB-IV,C-1,D-1l

4. A-1,B-1,C-VD-1I

[Question ID = 734][Question Description = 134_0_GP28_0CT22_52_Q34]
1. 1 [Option ID = 2933]
2. 2 [Option ID = 2934]
3. 3 [Option ID = 2935]
4. 4 [Option ID = 2936]

30 Given below are two statements

Statement I: ROM is temparary memory that can be
written to or read from and the contents of the memory
can be changed,

Statement ll: RAM is permanent memory that can only be
read from and contents of memory cannot be changed.

In light of the above statements, choose the most
appropriate answer from the options given below
1. Both Statement | and Statement |l are correet
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct



i &l P R § SR 5EN & wed 1 -

YT - | : TH (ROM) ST TR & e R fae W 9aa 8
3R o IeT ol 9T & SN HERI @1 3iqde] @1 Ul
for a1 1 S g

TYT - 1| ; 3 (RAM) I 5 & Forgd &g Ugl o gl
& IR AN F1 3iTdw 3 ukefid ol fbu & 9Hd o

e BYA| & HGIH H FHfRad [adedl H 8 ¥al 3w
T -

1. WY | 3R |1 GHf Sel 8l

2.FYF | AR G TEd 8 |

3.8y 190 e, fFd ey 1 Tea 8 |

4. ®Y | G § , [ DY 1| Hal Bl

[Question ID = 735][Question Description = 135_0_GP28_0CT22_S2_Q35]
1. 1 [Option ID = 2937]
2. 2 [Option ID = 2938]
3. 3 [Option ID = 2939]
4. 4 [Option ID = 2940]

3 Given below are two statements

Statement |: Concentration of Volatile Organic Chemicals
is generally 100-1000 times higher in surface water than
underground water,

Statement |I: The most commen method of treatment of
Volatile Organic Chemicals is tc aerate them to
atmosphere.

I light of the above statements, choose the correct answer
from the options given below:

1. Both Statement | and Statement |l are true,

2. Both Statement | and Statement 1l are false.

3. Statement | is true but Statement |l is-false,

4. Statement | is false but Statement [l is true,



el ey BumE.

HY - | ; AR Bl WA B W YT 5 91
Y& W] oia 3 AR 100-1000 THT 3 Sl

HYF - || ; AT BleH® THEA & YT @ Ggiad
A B3fY 3= e | afad & 5l

Iuled YA & HEID 3 FEidiad [Geedl 3 Y Hel 9w
o -

1. 99T | 3R 1 SR T R

2. @Y | 3R 1 G e & |

3.0y Td e, g @y 1 Tad 8 |

4 T | AT, Bg I 1 TR B

[Question ID = 736][Question Description = 136_0_GP28_0CT22_52_Q36]
1. 1 [Option ID = 2941]
2. 2 [Option ID = 2942]
3. 3 [Option ID = 2943]
4. 4 [Option ID = 2944]

32) Pyrolysis-helps in addressing the Problem of

1. Air Pollution

2. Water Psllution

3. Municipal Solid Wastes-
4. Electronic Wastes

Ag-3gaed gy § ¥ v 99 & 9919E 5 98/l
Eﬂ?ﬁ%

1. A UGE0

2. 9e UG

3. R 31y smfRE

4 3oaclHe HARP

[Question ID = 737][Question Description = 137_0_GP28_0CT22_S2_Q37]
1. 1 [Option ID = 2945]
2. 2 [Option ID = 2946]
3. 3 [Option ID = 2947]
4. 4 [Option ID = 2948]

33) The period of Sendai framework for disaster risk reduction

is

.2015 -2030
. 2020 - 2040
.2015 -2025
.2020 - 2030

R O Y e



STIET AIRgH *HIHe0 oy Uols ©uxdl 31 3{afy
ICEIRITC R ATk

.2075 -2030

. 2020 - 2040

. 2015 - 2025

. 2020 - 2030

-

P v k]

[Question ID = 738][Question Description = 138_0_GP28_0CT22_52_Q38]
1. 1 [Option ID = 2949]
2. 2 [Option ID = 2950]
3. 3 [Option ID = 2951]
4. 4 [Option ID = 2952]

34 .
) Given below are two statements

Statement |: To address problem of climate change it is
essential for the world to have 'Net Zero'

carbon emissions by the year 2050.

Statement II: There is zero carbon emission associated
with-the production of gray-hydrogen.

In light of the above statements, choose the correct answer
from the options given below:

1. Both Statement | and Statement |l are true,

2. Bath Statement | and Statement |l are false.

3. Statement | is true but Statement |l is-false,

4, Statement | is false but Statement [l is true,

el ey BumE.

BY - | : Srag UNEE ®1 YAl & 9H1YH B, [9% P i
Tg 90T ¢ 19 g8 2050 O% Fad 4 TE S8eq &
T @I el B

HY - || : 0 DI Iodoi I BIEse ® Sdied & Oy
HeE

e PYA| & HSIH H FHfRad el H ¥ Wel 3w
T -

1. @Y | 3R 1 ST TR B

2. FYT | 3R 1 G e B

3.9 YT g0 8, fd Sy 1 T B |

4. ®YF | SEG © , (g DY 1| Hal &l

[Question ID = 739][Question Description = 139_0_GP28_0CT22_52_Q39]
1. 1 [Option ID = 2953]
2. 2 [Option ID = 2954]
3. 3 [Option ID = 2955]
4. 4 [Option ID = 2956]



35 .
) Given below are two statements

Statement |: Acute exposure to a chemical is a long
term continuous exposure by that chemical

Statement II: Chronic exposure to a chemical is a short
term expoasure to that chemical

In light of the above statements, choose the most
apprapriate answer from the optiens given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statemerit || are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct

Tasiar U E:
HY - | ; Tl T @7 o8t IRTeH 39 TEH BRI BH
T SEBIe® Fod SEE

YT - 11 ; mﬁmﬁﬁmﬁa 35194 OY THITH &)
Heu@mlod 3ee3 6|

e BYA] & HSH H FHfRad el H 8 Uel 3w
T -

1. WY | 3R |1 G Dol gl

2. YT | 3R | G e g |

13y g, A e I a8 |

4. ®YT | GG &, [bq YA 1| 8l 81

[Question ID = 740][Question Description = 140_0_GP28_0CT22_52_Q40]
1. 1 [Option ID = 2957]
2. 2 [Option ID = 2958]
3. 3 [Option ID = 2959]
4. 4 [Option ID = 2960]

36) Community Colleges are supposed to offer courses that

are a mix of
1. Fing Arts and Life Skills
2. School and College Education
3. Technical and Traditional Skills
4. Knowledge, Technical and Soft Skills

Traihe Aeliaarel g1 Rufeied usgear & T a g
o ygm o1 e B T 8 7

1. Afca @ 3R Sie S

2. [aereig SR Arefagrey fan

3. APIB1 AR TRUNS DIEE

4, §H, THAID1 AR 75 DN




[Question ID = 741][Question Description = 141_0_GP28_0CT22_52_Q41]
1. 1 [Option ID = 2961]
2. 2 [Option ID = 2962]
3. 3 [Option ID = 2963]
4. 4 [Option ID = 2964]

37 The major terms of reference for the National Knowledge
Commission were

A, Challenge developed countries in Knowledge creation
B. Westernise the Indian educational system

C. Promote creation of Knowledge in science and
technology laboratories

D. Promote Knowledge applications in agriculture and
industry

E, Build excellence in education system to meet the
challenges of the twenty-first century

Choose the correct answer fram the options given below;
1.4, Band Conly
2.B, Cand D only
3.C Dand Eonly
4.4 BandEanly

1P T ST & Y [Gar e Fafifaa H e g
q:
AT o & &7 1 Sl 531 & gl o
B, YReTg RI&T Uegicl @1 WIS
c. fag we dieliffte] warmEasd | 9 94 @1 dided
D. H1Y Td IR & &7 H 11 VAR & Ui
E. 300 19d] Gal ®1 gAlag! B GiHA] B & (a8 1151 S
H Iepwa &l i
d fau 71C fadedl 4 4 el IR 91 :

1. BaA A BARC

2. ®au B, CHRD

3. ®99C, D HNE
4 HIAA B IARE

[Question ID = 742][Question Description = 142_0_GP28_0CT22_S2_Q42]
1. 1 [Option ID = 2965]
2. 2 [Option ID = 2966]
3. 3 [Option ID = 2967]
4. 4 [Option ID = 2968]



38) The acrenym "SANKALP', introduced by the Ministry of Skill

Development and Entrepreneurship, stands for ;-
1. Skill Awareness and Knowledge Assessment of
Livelihdod Promdtion
2. skill Addition and Knowledge Assessment of
Livelihcod Promation
3. Skill Acquisition and Knowledge Awareness of
Livelihcod Promation
4. Skill Attainment and Knowledge Awareness of
Livelihgod Promation

I TU U & U va Ot i ¥ feue dRm wu
THEH
2. e w8t U s siwde HfE fSaciigs waeH
3. Fpa ufedie U Aie dg e fadigs
THERA
4, Tope SEHHE US Ao 909 3P [auiEs
JHEH

[Question ID = 743][Question Description = 143_0_GP28_0CT22_S2_Q43]
1. 1 [Option ID = 2969]
2. 2 [Option ID = 2970]
3. 3 [Option ID = 2971]
4. 4 [Option ID = 2972]

39) Where is Chanzkya said to have composed his

Arthashastra 7
1. Sarnatha
2. Takshashila
3. Nalanida
4, Vikramshila

0 SRR @) =99 @el @) 4
1. FTATY
2, dEREn
3. 9refar
4, fasaren

[Question ID = 744][Question Description = 144_0_GP28_0CT22_S2_Q44]
1. 1 [Option ID = 2973]
2. 2 [Option ID = 2974]
3. 3 [Option ID = 2975]
4. 4 [Option ID = 2976]



40) Match List | with List 11

List | List 1l
Name of the : .

. Domain and Subject Matter
Subject

~ I. Agriculture, trade, commerce, animal
A, Kavya )

husbandry

B. Aniviksiki Il. Etymiology
C. Varta IIl. Logic
D. Ntrukta IV. Imaginative and creative literature

Choose the correct answer from the options given below:
TA-ILB-ULE-IV,D-|
2ZA-IVB-NILC-1,D-1
FA-NB-IVC-Il,D-1
AA-ILB-IV,C-,D -1l

Tl - @] gl -1 e DI ;

CER =l -1l

T &1 T &7 AR fawgagg

A BT |. B, YR, I, TIUeH

B. S{difafs] I1. Fs5; ST A

C. @t 111 TEB R

D. e V. FEATED AR GoTEE 9ied
4 fer e fdwedt © © W eI

TA-ILB-ULE-IV,B -]
ZA-IVB-NILC-L,D-1
SSA-ILB-IMC-I,B -
4 A-ILB-IVMC-[,D-Ill

[Question ID = 745][Question Description = 145_0_GP28_0CT22_S2_Q45]
1. 1 [Option ID = 2977]
2. 2 [Option ID = 2978]
3. 3 [Option ID = 2979]
4. 4 [Option ID = 2980]

Topic:- 13_GP_SH1_S2_C



Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Which was the Statement of fact in the Speech of
Mahatma Gandhi at Banaras?
1. Lawyers, doctors and landlords sided with the British.
2. The Indian nationalism was elitist
3. Nationalism was of another level in India
4. The existing Indian nationalism was highly effective



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

SIRY H Al i & WIee &1 qwW $ud FEkiiEd J 9
@I | U
1. gopidl, el SR yEaniaal - Sfsi o1 ug fomr
2. HIRel1G AAFATE HiTaral 4l
3. YIRS # AFAIG 30 TR P Ul
4. TaEr HRTE aTG Sid gHTE! ol

[Question ID = 746][Question Description = 146_0_GP28_0CT22_S2_Q46]
1. 1 [Option ID = 2981]
2. 2 [Option ID = 2982]
3. 3 [Option ID = 2983]
4. 4 [Option ID = 2984]



2)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Gandhiji's speech expressed the intention of

1. Making Indian nationalism mere representative

2. Announcing the desire of expatriates to become
politically active

3. Criticising the activities of Indian natienalists

4 Launching a new nationalist movement



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

el < & yren § Fgfafas & 9 g e 91 sftefea
gs di?
1. YRAE AParE @ AR AYE ufaEe @ed o
2. FEdl & Tenae ©U 4 9ied oH ©1 3531 &)
I B
3. YA APAIG & BEGA B SATarEH] S
4. T APAIG] AT HRH BT

[Question ID = 747][Question Description = 147_0_GP28_0CT22_S2_Q47]
1. 1 [Option ID = 2985]
2. 2 [Option ID = 2986]
3. 3 [Option ID = 2987]
4. 4 [Option ID = 2988]



3)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Gandhijl could put his precept into practice during

1. The Lucknow mieeting

2. The talks with landlords

3. The Champaran campaign

4, Tnie interaction with nationalist leaders



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

e o 5 3 e w1y @1 Fetiad 8 © fde R
wli-ad fodT 7

1. TEAS T4

2, 1Al & 9y a9l

3. 99RA TATE

4. AFTGETC] ATl & 9y STl

[Question ID = 748][Question Description = 148_0_GP28_0CT22_S2_Q48]
1. 1 [Option ID = 2989]
2. 2 [Option ID = 2990]
3. 3 [Option ID = 2991]
4. 4 [Option ID = 2992]



Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Which issue propelled Gandhiji to the national stage for a
wider moverment?
1. Labour dispute of textile mill workersin Ahmedabad
2. Agitation peasanis in Kheda
3. The revolt against British Indigo planters
4, The Rowlatt Act



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

Frafafad & | fow g - 7 of & Wp1a w1 ) s
g & o Ui fean

1. IEYAIEE 4 $US Hd HeRI ®I 59 dag

2. WE1 & fpart &7 sifaied

3. ic Pu®I @] HU= & (G 9ale

4. e ae

[Question ID = 749][Question Description = 149_0_GP28_0CT22_S2_Q49]
1. 1 [Option ID = 2993]
2. 2 [Option ID = 2994]
3. 3 [Option ID = 2995]
4. 4 [Option ID = 2996]



5)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

The main intent of the passage is to deseribe

1. The British atrocities in India

2. The different facets of Indian national movement

3. The various campaigns against the British in [ndia

4, The emergence of Gandhiji as a representative
national leader



FrafafeEa e o1 ufed ot 46 & 50 TH U F I
gifeg ;

W] 1916 § §910G H 77| &1 HTHY] U &8 W a9 oy
T o, ST YR Apare U Sid givaen 4, foreH
TE, Fafem! R Y @1 Oty uRer 6| g
O TR W T8 39 A1 3 oy o1 fagd GF dlead o
aTe WAt SHiaad] @1 HRKY JPAIG Pl U Bl Sy
BT G SUINOn &1 7TH] A 59H YRa™ aill @1 3
i@ TR Ui 5 59 39 9y & s 71 T @
@1 (0 i 919 B agR €U ¥ URad B B gHaw
U g1 fETeR 1916 & vi@3 § HAIod 96 J (98K &
dURA & far! - 374 Hud g o | e g/ 3=
fafem +ia @1 T - aral & H64 9geR & gR H gad
T | e @] @Y 1917 | AT SiUdmiS §ug 9ueA 3 o
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT H 16 41 T8 1918 F TR S 307 TTeReg o o

&1 Hffgiemt | anfhd gU) 99y 36 Bugl Ha & sHaRl
@ DRCY d5at B & (08 HEHGIEIE | 94 ([9aG H
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
3 ol g O 4| 0yE 9% 08 & eRE o9 4 TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

Jcie 9fEfT A 3 SR aFel B §R) e @) whE &t
71 7Tl i gR1 ST Sigle 99 § HEH & SR
I AR UiEE YRd H dvd P 1edfd I sl |

T & 5% 9E R FEfatad o | g g e 8 7
1. YIRa H feifew @R
2. YR AP SHigie & H ua
3. YRa H UGl & 9w [Afay sivae
4. 71 St 1 Uit g A & wu H anfaula

[Question ID = 750][Question Description = 150_0_GP28_0CT22_S2_Q50]
1. 1 [Option ID = 2997]
2. 2 [Option ID = 2998]
3. 3 [Option ID = 2999]
4. 4 [Option ID = 3000]






